ChNT &E3=

BB R ELATEE
.
. . ] !
| | |
\ ;
b,
- .
NXTCY F51

ANzt




WA FHIES FHRAEHERE WA FHAIES FHRBAEHERE

Open a New Blue Ocean for Dual Carbon Goals, Create a New Future for Digital Technology Open a New Blue Ocean for Dual Carbon Goals, Create a New Future for Digital Technology

SHIFZE WA, FVlE, [EZEIN “3+27 PR RHnhEe

CHINT Today New Era, New Opportunities, CHINT Build a New Momentum for the Development of the "3+2" Industry

EHRRRICTWIE, FEREFERE. StelES. SRR WEFZOWss, EEReIEY
1 970 fZ5t 1 780 Z5 1 5% 14 O + iz =, LieIngegshFaleeekmis, AekBFRE S SRS ERBESSm=RR LR,
B A oG S ABYSER EFHESRFIIFERRE,

Annual Total Assets Annual Revenue YOY Growth in Total Annual Profit and Tax

USD 27.7 Billion USD 25 Billion Annual Revenue USD 1.97+ Billion . . . . . . .

CHINT actively seizes opportunities, continuously focuses on core businesses such as green energy, intelligent
electrical, and smart low—carbon industries, and cultivates the science and technology innovation incubation industry.
Empowered by a full-featured overseas platform, it provides global customers with clean energy and intelligent
electrical full-scenario solutions, and works together to promote efficient and sustainable development.

50,000+ g 500,000 g 140+ 202412,

SHRAT FRMlgE R ERERRMX HEREIRS LAY E):

Global Employment Opportunities Business Coverage in Data as of

Employees Driven by Industrial Chains Countries and Regions E‘t ﬁﬁ Hg

KREHE

Development History

©® ITEERE O FEEEHEEFL © IEZ=EBg (601877) O REMSDEMNEE O =6 © FARUR SR
IRMNIESFERRRATE) AR £ 7. Wi L aN R |

20244F ‘ .
£\ | |
AU 4 4 | '~ Smart
20226F Intelligent Low-carbon
~ Electric VA
| | | /
19914F 2004£F — |
O EESRISER @ ERTRER O EEHRERTL O WHLEREREEE O KNSR © T © £752030E5RER
MBS [ SRR

EREFFS | HBgFEs

ternational Platform | Sci-tech Innovation latform

BBy, BERE FRBHER, HEEHE BEES, WRESH

1984-2005 2006-2016 2017-ES




MR FhIEE FHRVEHERE

EIRPE RS2

Based In China, Providing Services Worldwide

SHFEDL: KL, WM. Tk, 6 6 EFEHRE: TAR. FIENR. BHR. BTENR. LENR. PER 30 4 :2 O 4 ED :2 300 4 SEEwE
National R&D Centers: North America, Europe, Asia—Pacific, North Africa International Marketing Territories: Asia Pacific, Western Asia and Africa, Europe, Latin America, North America, China Manufacturing Bases International Logistics Centers Global Distributors

JBER Jiuguan g
. it Yanchi -, - F“‘ Z£E USA.
Czech Republic 1258 JPFA Xianyang A ; : 2=P8a] Mexico

Netherlands faj= 3 < FaBH Nanyang
. 4
UK 25 _ Y :i
France i&E | APH

{s
o e \ > W
EhI Yanchenc .

Poland j=
Romania Z5fEIl

IIZX Canada

Italy FAF
Switzerland ¥t S b
Germany EE v s iEBH Shehyang
Greece &l - - VRJ% Songyuan
Portugal E&EZF A7 Japan

Turkey THE

Spain PRI s */‘
| . %2 %2
Bulgaria fRINFITE v | ‘ iZ#21H)| Los Angeles

&5E South Korea
3% Shanghai
T

Fa>< Jiaxing

B Wenzhou e

Frankfurt jE=5218 k8 shanghai

Tunisia Z&fEHR

UAE. FIEEES - .
X5 Yiwu
Kazakhstan T&7=5eifiE
India EDEE = FuM Hangzhou JBIRZ’R Ecuador

EHMELLIL Colombia

. N AIE Hefei
Saudi Arabia ERIRHE Bl Hefei

BEEME O

Vestérn Asia and Africa

;-- 'H"‘E@E Philippines 3. e Peru
ENERFEIL Indonesia & Brazil
Nigeria fEé B#FIIr -~ JRARIE Aystralia .
Egypt i%& L : Bahg|adesh ﬁbuﬁ %ﬁ-ﬁé. Ne.W Zealand N
- S- L 3 AS—
Uganda B5Fix Thailand Z=[E P T ® BIFAR
*o . R Global Subsidiaries

Malaysia D3RPGIE
" Singapore FHIE
Cambodia SaifZE
Vietnam #kEg

Kenya 5L

©® HiEEin

‘Manufacturing Bases

® ZBKiRERC
R&D Centers




ot gE

NXTCY-M NXTCY-YD
RIIER TR R B IEERS
Sy Page P-001 Page P-135
ARzt

PR T 4B




NXTCY-M ZEJIEIREES

SSMRTEENES

1 F=mtiid

AR B SRR SR M= e, Rk / FREEXIEREIAN AR, MAREER
TR SR SBREENG
SHETEAERS—M, ol TR EC61076-2-
ERri=sl, IOZRT I BSME

ROZ e FiEiEas,

NXTCY-M R [BFEREE, BT M3z
101/104/TO9/111/“3/1W4 FERTFITINREZBNBESEE. 55
. EBHL. #hiEzE. TAegEimEiTil,

IR RS
o F-‘:":’:H?R#*ﬁ

SEX,

I MEDBE: 8eEl;

2. B RS SR,
b7 E L W e
4. SNEBHPER:

3. LAHREY:

o FEmitg:
M8 &1

M12 &7 fRiSE=E A, B. Do L KO X,

PCB fftlR. [Efe=;
ek, ERIEREE;

P67 RLAE

WIBEZEA. B. D,

HEEERS M12 EWRIBEE;

7/8"& I
M23 £

B 3-61%,
AR 6-19 10y,

THESE 3-8,

OEERE 3-17 71,

KAV M8, M8 DikEs

5 M8 ERIEEE;

RAE M12 IlpsiestiEk. M12

ERiB 7/8"UlipilcetiEAN 7/8 EIRIERESREY

HaiE M23 Plipiceliik 5 M23 EiRiEESEE,

2 MBS

M8 &I1:
M12 51

ERT/NEUERER.

ARGEN
ERT B, TWLELKRW. HuEhlZE.

PLC. EBHLEIAE;

L. AT

7/8"F&F: BFAFET A mini-Change 20, R BstHsE s

M23 &31):

CRTEI. Sz

Lo

SERSERAIVEE,
AR, AR 2R A EEEE Tl B9,

3BSKAEX
AR TGSk
N X TC Y - AS M08 A M 03 001
&l Be X5 EES X3 ES o s e
Ke =5 mmE =E 2 gy WO A8 TH KIS
Wi M08, A, B M: 03. 04. 001,
&g M12. D, L F: & 05, 06, 002
M23, K, X 07, 08, 003......
78: 09, 12.
7/8" 17. 19
3E: M23 F1 7/8" Thmas i
sl
N X TC Y - SP M08 T A 03 001
ol Be B EEE X3 EE . s =
KE =5 sEE =@ q= mx PR w®B & FAS
THY
SE MOS8, \T(:%E A. B. 03.04. 001,
S M12. S'.Eﬂ D. L 05, 06, 002,
M23. R:E$ K. X 07. 08, 003......
78: .i” 09. 12,
7/8" H:HA 17. 19
R
N X TC Y - PM MO8 B A M 03 001
&0 Be %3 EME X3 Ea  $E o . -
k8 3 mEE =@ s |y kg e K8 TR S
m# MO8, F:Eijsi A. B M:2 03,04, 001,
&R M12. B:ggi D. L F: & 05, 06, 002.
M23. Lix= K. X 07, 08, 003
78: L 09,12, ...
7/8" 17. 19

IEZ=-EHE

CIRRRIRT SRR | 002



EHFERS SR ENES

4 SIS HHICLERE

A

M12 i &iEiEes
=5 gime
Pin HiOHE
M5 {QEERES 5pins A Spins B
v ki HiSEeE 1 BN BN _
Pin Wire colors/ &iSEhta 2 A WH
1 4 3 2 3 ! BN 4 BK BK
(e o o 5 - GY GY
) L % < 9 3 U
4 BK Home
Pin HiOEE
— 8pins 12pins
M8 iREiERRR 1 WH BN
Ly e HTERE 2 BN BU _
. . . . Pin Wire colors/ ZetERes
3pins 3pins 4pins 4pins - - 3 GN WH
4 4 3pins 4pins
4 YE GN
2 4 4 ° o 2 1 BN
o > 5 GY PK
3 3 1 o )
1 1 3 3 1 6 PK YE
3 BU
4 7 BU BK _
6pins 6pins 8pins 8pins 8 RD GY
9 - RD
4 4 5 5 Pin Wire colors/ £t
o 6 4 44 O 6 10 - VT
5 3 3 O¢o O)° 080 ° 6pins
6 o 7 3 3\o o)7 11 - GY/PK
1 2 2 1 3 -2 i ER
2 2 1 12 - RD/BU
2 WH
aoi - . . 3 BU
ins ins ins ins
p P p 0 p 2 BK M12 ig&iEiEes
PP P P 1 5 av &iEme
2 3 4 2 “ob i
‘?&" 2 4 40 0O)2 6 PK on
)\ s \ o O A o 7 B 17pins
3 3 8 _ 1 BN
2 BU
3 WH
M12 ig&iEEes
- 4 GN
ay g e
Pin Wire colors/ &gt > PK
4pins 4pins 4pins 4pins 4pins A-coded 4pins D-coded 6 i
oD : = 7 B |
3 4 4, 3 8 GY
oo Y o oY z A
9 RD
A9 ©O 1 1 2 A9 9/ : BU
2 BK 10 VT
11 GY/PK
M12 REEER 2 ROEY
L ki 13 WH/GN
14 BN/GN
Spins Spins Spins Spins 8pins 8pins 12pins 12pins 17pins 17pins 15 WH/YE
A A 16 YE/BN _
17 RaD/BU

AA AA BA BA
5
4 4 6
¥ 3 30504 3 30504 4
(o] o 7 3
o O (e Je]
1 2 2 1 1 2 2 1 1 2

3l0 % o);

5
46 © O\¢
o0

1

003 | IEZ=-5E

RRRIRT ISR

1

IEZ=-EERERBIRTTS=IRER | 004



EHFERS

=

SEMREES

M12 iREiEERE

M12 iR &iE%R

M12 g &iEi&R

M12 ig&iEiRas

Ethernet/ LAKRK ,8 5, A 48

Ethernet/ LAKXRI .8 &, X wi3

Varan, 8 &, X %3

Lk

4pins 4pins

AA DD
4 3 4
3 3004 4, 3 o o
1 2 2001 1 2 2001

4pins 4pins Spins

BB AX A
5 5
4 3 Yo 50V 6 4 46 O O\6 4 .
0% 7 s a0 % o)y
1 2 2 1 o0 s 8
1 2 1 6

Spins 8pins 8pins 8pins 8pins

M12 & M12 &
PROFIBUS, 5i:, B {Ri3 PROFINET, EtherCAT, Sercos 4 it: D #7#3
Pin G Sigra/ 155 Pin SERE Signal/ 155
l - - 1 BU DATA-
2 GN A cable/ EB4f
5 . . 2 0G DATA+
4 RD B cable/ E84% 3 R
5 Filler wire/ H%84% -
. 4

RIS
M12 2 & M12 i@ &iEiEeR
CANopen, 5%, A 4R INTERBUS, 5%, B 47f3
Pin GTe A Pin GTe Signal/ 55
1 Shield/ Bk Drain 1 YE DO
2 RD 2 GN DO

3 GY DI
3 BK

4 PK DI
4 WH 5 BN COM
5 BU - WH NC
=2 ] ]
M12 g &R M12 g &R
Ethernet/ LAKR 4 &, D 43 PROFINET, EtherCAT, Sercos 4 it:, D %®i3

Signal/ {55
Pin ZHSEE Ethernet/ Pin ZHSEHE Signal/ 55
LAKR

1 WH/OG TD+ 1 YE TD+
2 WH/GN 2 WH RD+
B 0G

3 0G
4 GN
=2 o] 4 BU

005 | IEZ=-E&4

EIRAR IR SEIRMRS

Signal/ 55 Signal/ 55
Pin LS Ethernet/ Pin ZISEE Ethernet/ Pin HOHE Signal/ 55
LAKRY PAKRY

1 WH/BU D3- 1 WH/OG D1+ 1 n.c

2 WH/BN D4+ 2 0oG D1- 2 oG

8 D4- 3 WH/GN D2+ 3 WH/GN

4 D1- 4 GN D2- 4 n.c.

5 D2+ 5 WH/BN D4+ 5 WH/BN

6 D1+ 6 BN D4- 6 BU

7 D3+ 7 WH/BU D3+ 7 BN

8 D2- 8 BU D3- 8 GN
Z2HE

M12 iS5

HINBH

2+PE 2+PE 3+PE 3+PE 4+FE 4+FE 4pin 4pin
S S S S E E F F
@ \0©/
4pin 4pin 4+FE 4+FE 4+PE 4+PE 5+PE 5+PE
T T L L K K M M
B2 @ &%

HOME HOHE

4+PE, K-coded 4+FE, L-coded

Pin DG Pin HOHE

1 BN 1 BN

2 WH 2 WH

3 BU BU

4 BK 4 BK

PE GN/YE EE GY

ERORRATIRIEME 1006



EHFERS

SR ENES

5 FREBRASH

5.1 NXTCY-M8 &7l ZEHz22

NXTCY-M8
MipgERiUEL - 8
e RYE
42REF |
f
g
M8x1 .0:
HARH
3pins 4pins
A
4
4
s Q ! 3 !
iTRIER
TER ) RS Bs
3pins A 713780100000045 NXTCY-ASMO8AF03001
4pins A 713780100000046 NXTCY-ASMO8AF04001
BARSH
ey 3 4
A Bligee
H 0.14/0.25/0.34 mm? / (26/24/22 AWG)
SMER 3~4.5mm
TIERE -25°C ~+85°C
HERIREL >100 %
e E 50V AC/60V DC
EERBTR 3A
PSR IP65
bz LEl e <10mQ
HELER0E > 100MQ
EEti R Cuzn
EfLAR CuSn
LR Au

NXTCY-M8
MinsfctiEL - 2
FRE RIE
45 REF |
‘ =11 .6-| ‘
I I ]
r\i
)
i
M8X1 .0/
AR
3pins 4pins
A
4
2,
1 3 1
THER
SE i) 155 Bs
3pins A 713780100000043 NXTCY-ASMO8AMO03001
4pins A 713780100000044 NXTCY-ASMO8AMO04001
BRSH
& 3 4
LA Bige
5530 0.14/0.25/0.34 mm? / (26/24/22 AWG)
LMBER 3~4.5mm
TERE -25°C ~+85°C
TR >100 %
e E 50V AC/60V DC
R 3A
FPER IP67/1P68
FEftERpE <10mQ
atoeelz) > 100MQ
EEHTR Cuzn
EFLAR CuSn
SRR Au

007 | IEZs-EERERRRTS SRt

IEZ=-EERERRTI R | 008



EHFERS SR ENES

NXTCY-M8 NXTCY-M8
MipEERUEL - 2 MipsEEUEL - 2
e RIE =mE RYE
42 REF ——— 40.5RE
S — |——
I * |
s LI T
< ﬁ 3 j
g — f =
7 -
M8X1.0 8
M8X1.0
LD Eagibari
3pins 4pins 6pins 8pins 5pins 3pins 4pins 6pins 8pins Spins
A A A A B A A A A B
4 4 5 B : 4 : g 2
! 2 1 2 5 2 ! 2 1 5
TRHRES ITRIER
T 4RES 55 Bs PvE 4RE 155 BE
3pins A 713780100000047 NXTCY-ASMO8AMO03002 3pins A 713780100000052 NXTCY-ASMO8AF03002
4pins A 713780100000048 NXTCY-ASMO8AMO04002 4pins A 713780100000053 NXTCY-ASMO8AF04002
5pins B 713780100000049 NXTCY-ASMO08BM05002 5pins B 713780100000054 NXTCY-ASMO8BF05002
6pins A 713780100000050 NXTCY-ASMO8AMO06002 6pins A 713780100000055 NXTCY-ASMO8AF06002
8pins A 713780100000051 NXTCY-ASMO8AMO08002 8pins A 713780100000056 NXTCY-ASMO8AF08002
BASH BASH
E 3 4 5 6 8 Five 3 4 5 6 8
LA 128 BEAN 3
350 0.14/0.25/0.34 mm? / (26/24/22 AWG) 57 0.14/0.25/0.34 mm? / (26/24/22 AWG)
ZiER 3~4.5mm EER 3~4.5mm
TIERE -25°C ~+85°C TIERE -25°C ~+85°C
TERREL >100% HERRE >100 %
EEE 50V AC/60V DC 30V TEBE 50V AC/60V DC 30V
EUERRT 3A 1.5A EREEER 3A 1.5A
lyzias:zd IP67/1P68 hitia e 1P67/1P68
FefihFRpE < 10mQ Refteape < 10mQ
atoeEl 2] > 100MQ “aisEalR > 100MQ
e Cuzn fEsapzEss CuZn
LR CuSn LA CusSn
SELEREM R Au SHELERMR Au
009 | [EZ=-EEReRERTS IR M FE=-HEgeRERA =R ME 1 010



EHFERS SR ENES

NXTCY-M8 NXTCY-M8
MBREAIES - 2 MBREAES - B
P RYE FEE RYE

46 REF |
o
13.0 x ——7.o‘~ T 13.0
>
<
s O
AR HALRTH
3pins 4pins 3pins 4pins
A A A A
4 4
2 N Y0 oV
@ 3 @) &3
iITRIER TRIER
ER i) RS Bs TE 4RI T8RS BS
3pins A 713780100000057 NXTCY-ASMO8AMO03003 3pins A 713780100000059 NXTCY-ASMOSAF03003
4pins A 713780100000058 NXTCY-ASMO8AMO04003 4pins A 713780100000060 NXTCY-ASMO8AF04003
BARSH BARSH
ER 3 4 TE 3 4
B Bliges 25 Ja P Bliges
A 0.14/0.25/0.34 mm? / (26/24/22 AWG) A 0.14/0.25/0.34 mm? / (26/24/22 AWG)
EMER 3~4.5mm EER 3~4.5mm
TIERE -25°C ~+85°C TERE -25°C ~+85°C
TERRE >100 3% TR >100 %
HERE 50V AC/60V DC EEEBE 50V AC/60V DC
ERT 3A EERRT 3A
lyatia=7d IP65 zia==4d P65
bizs T <10mQ FfibeafE <10mQ
2% ERRE > 100MQ ais eS| > 100MQ
iEEtTR Cuzn g Cuzn
EFLAR CuSn LA CuSn
EHFLEEME Au SELEEMR Au

011 | IEZ=-EE2RERRRTS SR04t IEZ=-EERERFIRTT SRR 1 012



EHFERS

SR ENES

NXTCY-M8
EREERIREE - 2 (i)
el RIE
22.0
-!_ I 20.0
@ " — -
S allaw !
3 ‘ .MWE 3
lip i\l\‘l‘NYUN‘UN‘M\UHI| | =
DT
3pins 4pins 6pins 8pins 5pins
A A A A B
4 4 5
(I P R T
TRIER
T3 4Rt iT55 Bs
3pins A 713780100000061 NXTCY-PMMO8BAMO03001
4pins A 713780100000062 NXTCY-PMMO8BAM04001
5pins B 713780100000063 NXTCY-PMMO8BBMO05001
6pins A 713780100000064 NXTCY-PMMO8BAMO06001
8pins A 713780100000065 NXTCY-PMMO8BAMO08001
BARSH
Pive 3 4 5 6 8
o Yk Pt
M 0.14/0.25/0.34 mm? / (26/24/22 AWG)
TIERE -25°C ~+85°C
TRRIREL >100 %
A E 50V AC/60V DC 30V
EERT 3A 1.5A
ERE Y IP67/1P68
Fefeape <10mQ
“as5ea0E > 100MQ
et CuzZn
EFLAR CuSn
BRI Au

013 | IEZ=-EERERRIRTT SRR

NXTCY-M8
ERTHEIEEE - 8 (FIH)
=mE RYE
18.0 |

o

T 3

e
Eagibari

3pins 4pins 6pins 8pins Spins
A A A A B
5 . 5 5
2 B ¢ . 2

ITRIER
PvE 4RE 155 BE
3pins A 713780100000066 NXTCY-PMMO8BAF03002
4pins A 713780100000067 NXTCY-PMMO8BAF04002
5pins B 713780100000068 NXTCY-PMMO8BBF05002
6pins A 713780100000069 NXTCY-PMMO8BAF06002
8pins A 713780100000070 NXTCY-PMMO8BAF08002
BARSH
E 3 4 (YRE3 A) 5 6 8
BEAN ot
B 0.14/0.25/0.34 mm? / (26/24/22 AWG)
TIERE -25°C ~+85°C
HERREL >100 %
e E 50V AC/60V DC 30V
EREERTR 3A 1.5A
hitiaed 1P67/1P68
Fefteape <10mQ
el | > 100MQ
fEsagmEss Cuzn
LA CusSn
BRI Au

IEER-EERERRRTT SRR [ 014



EHFERS

SR ENES

NXTCY-M8
EREERIREE - 2 (F545)
~mE RYE
21.0
3.5 .
@
o
M8X1.0
HELHMh
3pins 4pins 6pins 8pins Spins
A A A A B
4 4 5
Cr Y@
1 3 1 3 3 1 3
! ? 1 2 5
iITRIER
TE i) RS Bs
3pins A 713780100000071 NXTCY-PMMO8FAMO03003
4pins A 713780100000072 NXTCY-PMMO8FAMO04003
5pins B 713780100000073 NXTCY-PMMO8FBMO05003
6pins A 713780100000074 NXTCY-PMMO8FAM06003
8pins A 713780100000075 NXTCY-PMMO8FAMO08003
BARSH
T 3 4 5 6 8
B PCB &t
M
TIRRE -25°C ~+85°C
HERRE >100 %
e E 50V AC/60V DC 30V
EERR 3A 1.5A
FriFsER IP67/IP68
berg =Tzl < 10mQ
#a5FaE > 100MQ
iEEtE Cuzn
ErLgE Cusn
SRR Au

015 | EZ=-E5

RERIFIRT I SRR

NXTCY-M8
EREEEHREE - B3 (FifH)
mE RYEA
M11X1.0 -/
HELHTE
3pins 4pins 6pins 8pins Spins
A A A A B
£ 4 ; 2
G e & €Y
2 ! 2 1 5
TRIER
BE 4RI T8RS BS
3pins A 713780100000076 NXTCY-PMMOSFAF03004
4pins A 713780100000077 NXTCY-PMMOSFAF04004
5pins B 713780100000078 NXTCY-PMMO8FBF05004
6pins A 713780100000079 NXTCY-PMMO8FAF06004
8pins A 713780100000080 NXTCY-PMMOSFAF08004
BARSE
T 3 4 5 6 8
B PCB #&#R
A :
TIERE -25°C ~+85°C
HERIREL >100 %
EEEBE 50V AC/60V DC 30V
EERRT 3A 1.5A
BatrsER IP67/IP68
e e <10mQ
el | > 100MQ
brappat Cuzn
HEFLATE CusSn
SHELEEMR Au

IEZ=-EERERRRTI R 1 016



EHFERS

SR ENES

NXTCY-M8
ERZERIEEE - 22 (90°)
FEERE RIE
e
5
=
8.2 =~
AEibaxic]
3pins Spins 6pins 8pins
A B A
4 4
) €D
1 3 1 3 3
% 1 2 2
ITEER
o RS TS BE
3pins A 713780100000081 NXTCY-PMMO8FAMO03005
4pins A 713780100000082 NXTCY-PMMO8FAM04005
5pins B 713780100000083 NXTCY-PMMO8FBM05005
6pins A 713780100000084 NXTCY-PMMO8FAM06005
8pins A 713780100000085 NXTCY-PMMO8FAMO08005
BASH
RO 3 4 5 8
& PCB 1R
B -
T{ERE -25°C ~+85°C
RIORES >100 %
EERRE 50V AC/60V DC 30V
BB 3A
BHPEE: IP67/1P68
EARESLE <10mQ
“eizealE > 100MQ
wETATR CuZn
BT CuSn
EHELEEEMR Au
017 | IEEZ=-5

NXTCY-M8
EREHEHEREE - 8 (90°)
mE RYEA
HELHTE
3pins 5pins 8pins
A B A
4 5
470 oV 46 © >
% 2 1
TRIER
PvE 4RI T8RS BS
3pins A 713780100000086 NXTCY-PMMO8FAF03005
4pins A 713780100000087 NXTCY-PMMO8FAF04005
5pins B 713780100000088 NXTCY-PMMO8FBF05005
6pins A 713780100000089 NXTCY-PMMO8FAF06005
8pins A 713780100000090 NXTCY-PMMO8FAF08005
BARSE
HEL 3 5 8
B PCB #&#R
M -
TIERE -25°C ~+85°C
HERIREL >100 %
e E 50V AC/60V DC 30V
EEEBE 3A
hitiaed 1P67/1P68
e e <10mQ
el | > 100MQ
brappat Cuzn
HEFLATE CusSn
SHELEEMR Au

IEZ=-EERERRIRTI SRR 1018



EHFERS

SR ENES

NXTCY-M8
T BRI (REETR)
~mE RIE
o
3
LD
3pins 4pins 5pins
A A B
. 2, 4
& 0
iITRIER
T 4RES RS Bs
3pins A 713780100000091 NXTCY-SPMOSTA03001
4pins A 713780100000092 NXTCY-SPMO08TA04001
5pins 713780100000093 NXTCY-SPMO08TB05001
BASH
o 3 4 5
E5 Ja =
AL
TIERE -25°C ~+85°C
TERREL >100 %
ERERE 50V AC/60V DC 30V
EERTR 3A
lyagia=2e IP67/1P68
FEfnERpE <10mQ
atoeelz] > 100MQ
TR CuzZn
EFLAR CuSn
SRR Au

019 | IEZ=-E ERERIRIRTT SRR

NXTCY-M8
T BiEESL (B4 8)
=mE RYE
51.5
<
3
| =
=
Q
[
Eagibari
3pins 4pins Spins
A A B
.
Y0 o\ VooV
ITRIER
PvE 4RE 155 BE
3pins A 713780100000094 NXTCY-SPMO8TA03002
4pins A 713780100000095 NXTCY-SPM08TA04002
5pins B 713780100000096 NXTCY-SPMO08TB05002
BASY
o 3 4 5
B =
A -
TIERE -25°C ~+85°C
HERRE >100 %
EERRE 50V AC/60V DC 30V
BERTR 3A
htia=d IP67/IP68
FEARERPE <10mQ
EatoEliE] > 100MQ
e CuzZn
fEFLAE CuSn
LR Au

IEZ=-EERERRTT R 1 020



EHFERS

SR ENES

NXTCY-M8 NXTCY-M8
TBUGRL (Q%T8) TBUGIRL (BEAE)
FEmEl RIE Pl RIE
’ 51.5
e
5
e}
|z < o
]
DM LD
3pins 4pins 5pins 3pins 4pins 5Spins
A A B A A B

.

vEN e ey veov e o e 3 ¢

B o s Ao o 4 s Lo . B T s Ao o A
Y 5

iITRIER TERES

ER i) RS Bs TER ) RS Bs

3pins A 713780100000097 NXTCY-SPMOSTA03003 3pins A 713780100000100 NXTCY-SPMOSTA03006
4pins A 713780100000098 NXTCY-SPMOSTA04003 4pins A 713780100000101 NXTCY-SPMO8TA04011
5pins 713780100000099 NXTCY-SPMO08TB05003 5pins B 713780100000102 NXTCY-SPMO08TB05006
BERSE BERSH

o 3 4 5 e 3 4 5

B - &L =

AL - 35 -

TERE -25°C ~+85°C TIERE -25°C ~+85°C

TERIRE >100 % TRRRE >100 %

EMEERE 50V AC/60V DC 30V EERE 50V AC/60V DC 30V

EERR 3A EERBA 3A

TR IP67/IP68 PSR IP67/IP68

R iE <10mQ bR iE < 10mQ

#aeR e > 100MQ atoeelz) > 100MQ

iEER Cuzn iEEHTR Cuzn

EFLAR CuSn EfLAR CuSn

SRR Au FLEREME Au

021 | IEZ=-E EREIRIRIRTT SRR

IEZ=-EERERRTI R | 022



EHFERS

SR ENES

NXTCY-M8
T BIEGESL (BHT2)
~mE RIE
LD
3pins 4pins 5pins
A B
5 . %0 o\ % \ 470 OV 2 N
OO G &
iITRIER
T 4RES RS Bs
3pins A 713780100000103 NXTCY-SPMOSTA03004
4pins A 713780100000104 NXTCY-SPMO08TA04004
5pins 713780100000105 NXTCY-SPMO08TB05004
BASH
o 3 4 5
B =
AL
TIERE -25°C ~+85°C
TERIRE >100 %
e E 50V AC/60V DC 30V
EERTR 3A
lyagia=2e IP67/IP68
FEfnERpE <10mQ
atoeelz] > 100MQ
TR CuzZn
EFLAR CuSn
SRR Au

023 | IEZ=-E55

CIRRRRTT IR MR

NXTCY-M8
Y BUgEgsSL (R4288)
~mE RYEA
210
M8X1.0H=—=] +
!
®
—t ©
==
HELHTE
3pins 4pins 5pins
A A B
5 . 40 oY b N 460N ¥ N

ITRIER
TE 4RI RS BS
3pins A 713780100000106 NXTCY-SPMO8YA03005
4pins A 713780100000107 NXTCY-SPMO8YA04005
5pins B 713780100000108 NXTCY-SPMO08YB05005
BRSH
TE 3 4 5
LR -
el -
TIERE -25°C ~+85°C
FERIRE >100 %
EEEE 50V AC/60V DC 30V
BRI 3A
PSR 1P67/1P68
FfteRpE <10mQ
R e > 100MQ
EEHR Cuzn
fEFLATR CuSn
SHELERMR Au

IEZR-EERERBIRTT=IRMRE | 024



EHFERS

5.2 NXTCY-M12 &7ERz=:

SR ENES

NXTCY-M12
URREEL - 2 - B
F=RE RIE
56ref {
! s
o
S =
o
< wry
N
=
Eibaxi
3pins 4pins Spins 8pins 12pins Spins 4pins
A A A A A B D

@
N G

5 6
7,
4 3 6 ¢ N
8 4
7 3 9 3
1 2 h 2 1 2

4, 3
1 2

NXTCY-M12
MinswEHEL - 8 - Bk
mE RYE
' 52ref y
S I
Q
o
< B /
o
Eagibari
3pins 4pins 5pins 8pins 12pins Spins 4pins
A A A A A B D
5
00/, AO O/, \° 9/, 30017 \° o/, A
TRIER
PvE 4RI T8RS BS
3pins A 713780100000116 NXTCY-ASM12AF03009
apins A 713780100000117 NXTCY-ASM12AF04009
D 713780100000118 NXTCY-ASM12DF04009
) A 713780100000119 NXTCY-ASM12AF05009
>pins B 713780100000120 NXTCY-ASM12BF05009
8pins A 713780100000121 NXTCY-ASM12AF08009
12pins A 713780100000122 NXTCY-ASM12AF12009
BARSH
Pive- 3 4 5 8 12
B gL 12
571 0.14/0.25/0.34/0.5mm?/(26/24/22/20 AWG)
SMER 6~8mm
TIERE -25°C ~+85°C
FERRE >100 )%
AERE 250V 60V 30V
ERERRTT 4A 2A 1.5A
zi==s3 IP67/1P68
FfneBfE < 10mQ
st Gl > 100MQ
TR CuZn
LR CuSn
SELEEMR Au

ITRIER

T3 ) iT55 idi=p

3pins A 713780100000109 NXTCY-ASM12AM03009
) A 713780100000110 NXTCY-ASM12AM04009

4pins D 713780100000111 NXTCY-ASM12DM04009
) A 713780100000112 NXTCY-ASM12AMO05009

>pins B 713780100000113 NXTCY-ASM12BM05009

8pins A 713780100000114 NXTCY-ASM12AM08009

12pins A 713780100000115 NXTCY-ASM12AM12008

BRSH

S 3 4 5 8 12

-5 Y BiaRes Pt

Al 0.14/0.25/0.34/0.5mm?/(26/24/22/20 AWG)

LMBER 6~8mm

TIERE -25°C ~+85°C

ERRE >100 %

e E 250V 60V 30V

e 4A 2A 1.5A

IERES IP67/1P68

FfheRmE <10mQ

el ) > 100MQ

EEtAE CuZn

HEFLAEL CuSn

LR Au

025 | IEZ=-EERERRRTT SRS

IEZ=-EERERRTT R | 020



EHFERS

SR ENES

NXTCY-M12
MipsRECEL - 2 - Sk
F=mE RIE
41.3
d
INN
(V]
o 3
% <
= wy/ = 1
DT
3pins Spins 8pins 12pins Spins 4pins
A A A A B D
7 S S
4 3 4, 3 4 3 6 4 . . 4, 3 4, 3
& YA % €
TRIER
T3 4Rt ITRE BE
3pins A 713780100000123 NXTCY-ASM12AM03010
) A 713780100000124 NXTCY-ASM12AMO04010
4pins D 713780100000125 NXTCY-ASM12DM04010
) A 713780100000126 NXTCY-ASM12AMO05010
>pins B 713780100000127 NXTCY-ASM12BM05010
8pins A 713780100000128 NXTCY-ASM12AMO08010
12pins A 713780100000129 NXTCY-ASM12AM12010
BARSH
Pive- 3 4 5 8 12
BN Biagse =t
M 0.14/0.25/0.34/0.5mm?/(26/24/22/20 AWG)
EER 6~8mm
TIERE -25°C ~+85°C
TERREL >100 )%
AERE 250V 60V 30V
EERRT 4A 2A 1.5A
lyageE=2ig IP67/1P68
FftesfE < 10mQ
et > 100MQ
REtAR CuzZn
TEfLAR CuSn
SELEREM Au

NXTCY-M12
MipEAEL - 8 - ZL
=mE RYE
35.0
r.
S :
@ Y —
()
2 3
N
= I
g
Eagibari
3pins 4pins Spins 8pins 12pins Spins 4pins
A A A A A B D
5
00/, A% O/, N , 30017 \° o/
ITRIER
PvE 4RE 155 BE
3pins A 713780100000130 NXTCY-ASM12AF03010
) A 713780100000131 NXTCY-ASM12AF04010
4pins D 713780100000132 NXTCY-ASM12DF04010
) A 713780100000133 NXTCY-ASM12AF05010
>pins B 713780100000134 NXTCY-ASM12BF05010
8pins A 713780100000135 NXTCY-ASM12AF08010
12pins A 713780100000136 NXTCY-ASM12AF12010
BARSH
PvE 3 5 8 12
BEA finl:022 12
M 0.14/0.25/0.34/0.5mm?/(26/24/22/20 AWG)
SMER 6~8mm
TIERE -25°C ~+85°C
FERRE >100 )%
AERE 250V 60V 30V
EERI 4A 2A 1.5A
zi==s3 IP67/1P68
bR e < 10mQ
“e5ER0R > 100MQ
fEsagmEes CuZn
LR CuSn
SHFLEEMR Au

027 | [EZ=-553

EIRRRTI IR

IEZ=-EERERRTI R | 028



EHFERS

SR ENES

NXTCY-M12
MUBEEECHEE - 2 - ZL (PGY)
e RIE
41.
T
<
o
ol
Q w“w
o
< <
= <
>
(qV]
s o/ 1T
&R 1
LD
3pins 4pins Spins 8pins Spins 4pins
A A A A B D
4.3 @ | 4 4 ] ( ]
2 G ) @ ©
1 1 2 1 2 \ A 1 /o 1 2
TRHRES
T 4RES 55 Bs
3pins A 713780100000137 NXTCY-ASM12AMO03013
o A 713780100000138 NXTCY-ASM12AMO04014
ns
P D 713780100000139 NXTCY-ASM12DMO04015
. A 713780100000140 NXTCY-ASM12AMO05014
Ins
P B 713780100000141 NXTCY-ASM12BM05015
8pins A 713780100000142 NXTCY-ASM12AMO08014
BARSH
E 3 4 5 8
BEAN gy
35 0.14/0.25/0.34/0.5mm?/(26/24/22/20 AWG)
ZER 6~8mm
TIERE -25°C ~+85°C
TRRREL >100 %
FEBE 250V 60V 30V
EERRIT 4A 2A
PSR IP67/1P68
Fflra e < 10mQ
EEo Gl > 100MQ
et Cuzn
EfLAR Cusn
EHLEEMR Au

029 | IEZ=-E55

EIRAR IR SEIRMRS

NXTCY-M12
TpZEECHRL - 8 - L (PGI)
=mE RYE
35.0—=
13
S
& Y
S £
% <
S Il
@E—/
Eagibari
3pins 4pins Spins 8pins 4pins
A A A A D
5
oo/, N 30017 A2 9/,
ITRIER
PvE 4RE 155 BE
3pins A 713780100000143 NXTCY-ASM12AF03013
apins A 713780100000144 NXTCY-ASM12AF04013
D 713780100000145 NXTCY-ASM12DF04013
) A 713780100000146 NXTCY-ASM12AF05013
>pins B 713780100000147 NXTCY-ASM12BF05013
8pins A 713780100000148 NXTCY-ASM12AF08013
BARSH
& 3 5 8
BEAN HitRes
351 0.14/0.25/0.34/0.5mm?/(26/24/22/20 AWG)
SHER 6~8mm
TIERE -25°C ~+85°C
ERIRER >100 %
BUERRE 250V 60V 30V
ERERRTT 4A 2A
yagiaE24d IP67/1P68
Fefhea e < 10mQ
ekl > 100MQ
fEsagmEss CuzZn
LR CuSn
SHELEREMR Au

IEZ=-EERERRTI R 1 030



EHFERS

SR ENES

NXTCY-M12
MipgeEiEk - 2 - B (PG9)
FEamE RIE
PG9
S
3pins 4pins Spins 8pins Spins 4pins
A A A A B D

a 3 4 3 4 3 § 4 4 3
7 3
1 1 2
1 2 3 A 1 2

NXTCY-M12
MinSECHRk - B8 - B3k (PGI)
FRE RYE
PG9
g bexict
3pins 4pins Spins 8pins Spins 4pins
A A A A B

TRHRES

T 4RES RS Bs

3pins A 713780100000149 NXTCY-ASM12AMO03002
) A 713780100000150 NXTCY-ASM12AMO04002

4pins D 713780100000151 NXTCY-ASM12DM04002
) A 713780100000152 NXTCY-ASM12AMO05002

>pins B 713780100000153 NXTCY-ASM12BM05003

8pins A 713780100000154 NXTCY-ASM12AMO08002

BARSH

E 3 4 5 8

LA HligRzs

HA 0.14/0.25/0.34/0.5mm?/(26/24/22/20 AWG)

SMER 6~8mm

TERE -25°C ~+85°C

TR >100%

SERE 250V 60V 30V

EERT 4A 2A

[yzi===23 IP67/1P68

FEfhra e < 10mQ

etoeeliz) > 100MQ

TEEAR CuZn

EFLAR Cusn

EFLEEME Au

031 | IEZ=-E ERERIFIRTT SRR

ITRIER

PvE 4RE 155 BE

3pins A 713780100000155 NXTCY-ASM12AF03002
) A 713780100000156 NXTCY-ASM12AF04002

4pins D 713780100000157 NXTCY-ASM12DF04002
) A 713780100000158 NXTCY-ASM12AF05002

>pins B 713780100000159 NXTCY-ASM12BF05003

8pins A 713780100000160 NXTCY-ASM12AF08002

BARSH

pive 3 4 5 8

BEAN HitRes

351 0.14/0.25/0.34/0.5mm?/(26/24/22/20 AWG)

SER 6~8mm

TIERE -25°C ~+85°C

FRIROREL >100 %

EEBE 250V 60V 30V

ERERRTT 4A 2A

a2 IP67/1P68

Fefhea e < 10mQ

ekl > 100MQ

fEsagmEss CuzZn

EFLAR CuSn

SHFLIEEMR Au

IEZ=-EERERRTI R |1 032



EHFERS SR ENES

NXTCY-M12 NXTCY-M12
MinECHERk - 2 - =% (PGY) MipsEEL - 2 - ZL (PGY)
e RIE =mE RYE
41.5 36.1
- T I 1
2 L s m
I = R ™
o o 2 ~
& e | S en Tl |
s \- = \
PG9
PG9
LD Eagibari
3pins 4pins 5pins 8pins 5pins 4pins 3pins 4pins Spins 8pins Spins 4pins
A A A A B D A A A A B D
5
1 1 2 1 2 "\ 23 1 2 1 2 © 9/, o \o%) 3°°°:’7 \%) A\° 9/,
TRHRES ITRIER
T 4RES 55 Bs PvE 4RE 155 BE
3pins A 713780100000161 NXTCY-ASM12AMO03004 3pins A 713780100000167 NXTCY-ASM12AF03004
4pins A 713780100000162 NXTCY-ASM12AMO04004 apins A 713780100000168 NXTCY-ASM12AF04004
D 713780100000163 NXTCY-ASM12DM04004 D 713780100000169 NXTCY-ASM12DF04004
) A 713780100000164 NXTCY-ASM12AMO05004 ) A 713780100000170 NXTCY-ASM12AF05004
>pins B 713780100000165 NXTCY-ASM12BM05004 >pins B 713780100000171 NXTCY-ASM12BF05004
8pins A 713780100000166 NXTCY-ASM12AMO08004 8pins A 713780100000172 NXTCY-ASM12AF08004
BARSH BARSH
T 3 4 5 8 & 3 4 5 8
B HlisRzs BEAN HitRes
S 0.14/0.25/0.34/0.5mm?/(26/24/22/20 AWG) 351 0.14/0.25/0.34/0.5mm?/(26/24/22/20 AWG)
ZHIER 6~8mm SHER 6~8mm
TIERE -25°C ~+85°C TERE -25°C ~+85°C
TERREL >100 % HERRE >100 /%
RERE 250V 60V 30V BUERRE 250V 60V 30V
ERERT 4A 2A ERERRTT 4A 2A
[yagia==2d IP67/IP68 yzia=-=4s3 IP67/1P68
73 ez <10mQ Fefhea e < 10mQ
atoeeliz) > 100MQ “ai5ealR > 100MQ
TEEAR Cuzn fEsagmEss CuzZn
EFLAR CusSn EFLAR CusSn
SFLEREM R Au SRR Au

033 | E=-EE

N
B

b
<]

RARR T SR

1

IEZ=-EERERBRTT =R | 034



EHFERS

SR ENES

NXTCY-M12
HinEmiEL - 2 (PGY)
F=amE RIE
51.5ref
©|
9
PG9
AE ki
3pins 4pins 5pins 8pins 12pins Spins 4pins
A A A A A B

e 7~
4 3 4 3 4 3 8 4 ,
8
7 3 9 3
1 1 2 1 2 \ A 1 ]

NXTCY-M12
MipERimk - 8 (PG9)
FEmE RIE
50.5ref
o o}
= H | <
M12X1.0 [ PG9
g bexict
3pins 4pins 5pins 8pins 12pins 5pins 4pins
A A A A A B

5

6
4 46 © 0\ 50°|o7 3 4 3 4
o 4(o 8B o) o050 (<)
0% 0% oo
1 PRI 2NA 2 (] 2 1

TRIER

T3 4Rt ITRE BE

3pins A 713780100000173 NXTCY-ASM12AM03006
) A 713780100000174 NXTCY-ASM12AMO04006

4pins D 713780100000175 NXTCY-ASM12DM04006
) A 713780100000176 NXTCY-ASM12AMO05006

>pins B 713780100000177 NXTCY-ASM12BM05006

8pins A 713780100000178 NXTCY-ASM12AMO08006

12pins A 713780100000179 NXTCY-ASM12AM12006

BARSH

Pive- 3 4 5 8 12

BN Blages

M 0.14/0.25/0.34/0.5mm?/(26/24/22/20 AWG)

SMER 6~8mm

TERE -25°C ~+85°C

TERREL >100 )%

AEBE 250V 60V 30V

EERRT 4A 2A 1.5A

lyageE=2ig IP67/1P68

Fftes e <10mQ

et > 100MQ

REtAR CuzZn

TEfLAR CuSn

SELEREM Au

035 | IEZ=-E55

CIRRRRTT IR MR

TRIER

PvE 4RI T8RS BS

3pins A 713780100000180 NXTCY-ASM12AF03006
) A 713780100000181 NXTCY-ASM12AF04006

4pins D 713780100000182 NXTCY-ASM12DF04006
) A 713780100000183 NXTCY-ASM12AF05006

>pins B 713780100000184 NXTCY-ASM12BF05006

8pins A 713780100000185 NXTCY-ASM12AF08006

12pins A 713780100000186 NXTCY-ASM12AF12006

BARSH

Pive- 3 4 5 8 12

BEA HiftRsy

M 0.14/0.25/0.34/0.5mm?/(26/24/22/20 AWG)

SMER 6~8mm

TERE -25°C ~+85°C

FERRE >100 )%

EEBE 250V 60V 30V

EERI 4A 2A 1.5A

zi==s3 IP67/1P68

bR e < 10mQ

“e5ER0R > 100MQ

TR CuZn

LR CuSn

SELEEMR Au

IEZ=-EERERRTT R 1 036



EHFERS

SR ENES

NXTCY-M12
MiAsHECHRk - 2 (PG9)
mE RIE
% 60 REF
o
=
ZiFEZE4~8mm
bAE{baki]
3pins 4pins Spins 8pins 5pins 4pins
A A A A B D

NXTCY-M12
MipERimk - 8 (PG9)
FEmE RIE
<
>
o
=
]
o
<
N
[SIE
DT
3pins 4pins Spins 8pins Spins 4pins

A A

D
6 © o\6 3
Yoso\ A YosoY o oY
0% s o) 0% oo
2 f e/ 2 A 2 1

iITRIER

T i) RS Bs

3pins A 713780100000187 NXTCY-ASM12AMO03007
) A 713780100000188 NXTCY-ASM12AMO04007

4pins D 713780100000189 NXTCY-ASM12DM04007
‘ A 713780100000190 NXTCY-ASM12AMO05007

>pins B 713780100000191 NXTCY-ASM12BM05007

8pins A 713780100000192 NXTCY-ASM12AMO08007

BRSE

R 3 4 5 8

o2 g0 iRy

5501 0.14/0.25/0.34/0.5mm?/(26/24/22/20 AWG)

LMBER 4~8mm

TIERE -25°C ~+85°C

HERRE >100 %

HEBE 250V 60V 30V

R 4A 2A

FHPER 1P67

iR e <10mQ

el > 100MQ

iEEtE CuzZn

bk Cusn

SRR Au

037 | [Ez=-E53

EIRRRTI IR

ITRIER

PvE 4RE 155 BE

3pins A 713780100000193 NXTCY-ASM12AF03007
) A 713780100000194 NXTCY-ASM12AF04007

4pins D 713780100000195 NXTCY-ASM12DF04007
) A 713780100000196 NXTCY-ASM12AF05007

>pins B 713780100000197 NXTCY-ASM12BF05007

8pins A 713780100000198 NXTCY-ASM12AF08007

BARSH

o 3 4 5 8

e Yk HifiRey

57 0.14/0.25/0.34/0.5mm?/(26/24/22/20 AWG)

ZMER 4~8mm

TIERE -25°C ~+85°C

HERREL >100 %

e E 250V 60V 30V

EREEET 4A 2A

hiE/as:2d P67

Rfteape <10mQ

el > 100MQ

fEgagzEss CuZn

HEFLATH CuSn

EFLEERM R Au

IEZ=-EERERRTI R | 038



EHFERS

SR ENES

NXTCY-M12 NXTCY-M12
MipsEHEL - 2 (PG9) MipERiEL - 8 (PGY)
=mE RYE =mE RYE
o
X
s 57 REF
=) I
- . ~
S s g
b= 4
SW13 6~8mm
§H3L5% §3L57
4pins 5pins 8pins 4pins 4pins 8pins 4pins
A A A D A A D
4 3 4 . 4 4, 3 o oY oy %o oY
t3) LS €3 €
ITHRER iTHRER
ivesd #AS T8RS Bs TE EEi] T8RS Bs
) A 713780100000199 NXTCY-ASM12AMO04001 ) A 713780100000203 NXTCY-ASM12AF04001
Apins D 713780100000200 NXTCY-ASM12DM04001 Apins D 713780100000204 NXTCY-ASM12DF04001
Spins A 713780100000201 NXTCY-ASM12AMO05001 5pins A 713780100000205 NXTCY-ASM12AF05001
8pins A 713780100000202 NXTCY-ASM12AMO08001 8pins A 713780100000206 NXTCY-ASM12AF08001
BARSH BARSH
fot-4 4 (4RES A) 4 (47r5 D) 5 8 BOt- 4 (4RESA) 4 (4%E5 D) 5 8
(=575 = 25 k0 533
I 0.14/0.25/0.34/0.5mm?/(26/24/22/20 AWG) M 0.14/0.25/0.34/0.5mm?/(26/24/22/20 AWG)
SMER 6~8mm SMER 6~8mm
TR -25°C ~+85°C TERE -25°C ~+85°C
TR >100 % FERRREL >100 %
e E 250V 60V 30V HEBE 250V 60V 30V
EERT 4A 2A BT 4A 2A
BEtRER IP67 o 7a=21 P67
i < 10mQ ERiEIE <10mQ
#aEaE > 100MQ patorEl iz > 100MQ
wEHEH Cuzn EetiR Cuzn
EFLMEL CuSn EATE cusn
AL Au SR Au

039 | IEZ=-EERERRRTT IR

IEZ=-EERERFIRTI SRR | 040



EHFERS

SR ENES

NXTCY-M12
MiBEREL -
F=mE RIE
48.2 REF ]
OD:4~8mm

DT

4pins 5pins 8pins 4pins

A A A D

4 3 3 6 4 4, 3

38 YN
TRIER
T3 4Rt ITRE BE

) A 713780100000207 NXTCY-ASM12AM04003

4pins D 713780100000208 NXTCY-ASM12DM04003
5pins A 713780100000209 NXTCY-ASM12AMO05003
8pins A 713780100000210 NXTCY-ASM12AMO08003
BARSH
TE 4 (4RR3 A) 4 (4%H5 D) 5 8
EE25 Y EHE
A 0.14/0.25/0.34/0.5mm?/(26/24/22/20 AWG)
SMER 4~8mm
TERE -25°C ~+85°C
TERREL >100 %
ERE 250V 60V 30V
EERRT 4A 2A
lhzia=d IP67
Fftes R <10mQ
eS| > 100MQ
EEtAR CuZn
TEfLAER CuSn
SELERMR Au

041 | IEZ=-EERERIRRTT IR A

NXTCY-M12
MinsmiEL - 8
e RIE
Q
X
s
: ||
el
EaEibaxic)
4pins Spins 8pins 4pins
A A A D
5
%o oY %050} 6 ° oy %6 oY
21 2 oo 1 37 2‘
TERES
T Eoic) = RS
) A 713780100000211 NXTCY-ASM12AF04003
Apins D 713780100000212 NXTCY-ASM12DF04003
5pins A 713780100000213 NXTCY-ASM12AF05003
8pins A 713780100000214 NXTCY-ASM12AF08003
BARSH
HEL 4 (%RE5 A) 4 (475 D) 5 8
BEEAN B
S 0.14/0.25/0.34/0.5mm?/(26/24/22/20 AWG)
ZER 4~8mm
TIERE -25°C ~+85°C
TRRIREL >100 %
BERBE 250V 60V 30V
ERERTE 4A 2A
a4 IP67
FEfnEspE <10mQ
eatoesliz) > 100MQ
EEtE Cuzn
AR CusSn
SLERE R Au

IEZR-EERERBIRTT IR | 042



EHFERS

SR ENES

NXTCY-M12
MiBIREEL - A - TL (PGY FHRR)
~mE RIE
36
o
=
- ®
M12X1.0 9
PG9
LD
4pins Spins 8pins Spins 4pins
A A A B D
4 3 4 3 4 4 3 4 3
€3 @ ©
iITRIER
T i) RS Bs
) A 713780100000215 NXTCY-ASM12AMO04011
Apins D 713780100000216 NXTCY-ASM12DM04012
) A 713780100000217 NXTCY-ASM12AMO05011
>pins B 713780100000218 NXTCY-ASM12BM05012
8pins A 713780100000219 NXTCY-ASM12AMO08013
BRSH
E 4 5 8
BT iRy
A 0.14/0.25/0.34/0.5mm?/(26/24/22/20 AWG)
LMBER 6~8mm
TIERE -25°C ~+85°C
TRRIREL >100 )%
e E 250V 60V 30V
BERT 4A 2A
[yagia=:23 IP67/1P68
iR e <10mQ
etz > 100MQ
TR CuzZn
HEFLME CuSn
SEEEME Au

043 | E5=-BE

2
x|

122
|<]

IRRRIR TS SRR

NXTCY-M12
AR - B - Bk (PGY HEFR)
mE RYE
®
3
PG ]

Eagibari

4pins Spins 8pins Spins 4pins

A A A B D
5

%o o} YosoVY 4603 Yos0V 45 oY

21 A 0% , 37 2 o%0 ¢ 21
TRIER
PvE 4RI T8RS BS

) A 713780100000220 NXTCY-ASM12AF04011
Apins D 713780100000221 NXTCY-ASM12DF04011
) A 713780100000222 NXTCY-ASM12AF05011

>pins B 713780100000223 NXTCY-ASM12BF05012
8pins A 713780100000224 NXTCY-ASM12AF08008
BARSE
V34 4 5 8
A gL
e 0.14/0.25/0.34/0.5mm?%/(26/24/22/20 AWG)
ZER 6~8mm
TREE -25°C ~+85°C
HERIRER >100 %
EERBE 250V 60V 30V
ENREFBI 4A 2A
zi=E7sd IP67/1P68
FEfhERfE <10mQ
etz > 100MQ
bEgagpa CuZn
HEFLAAR CuSn
SHFLEEEMR Au

fayey

TRRRRTT SRR | 044

=
i
I
1
anp



EHFERS

SR ENES

NXTCY-M12
EHREZZEHREE - 22 (M16X1.5 [584)
e RIE
|— 22.2
|—21
M12X1.0 M16X1.5
LD
3pins 4pins Spins 8pins 12pins 17pins Spins 4pins
A A A A A A B D
€2 & )
4 N N 19 4

? 4 3 A Y ) / SR A A A A
TRHRES
T 4RES 55 Bs
2pins A 713780100000225 NXTCY-PMM12BAM02001
3pins A 713780100000226 NXTCY-PMM12BAMO03001
) A 713780100000227 NXTCY-PMM12BAMO04001
4pins D 713780100000228 NXTCY-PMM12BDM04017
_ A 713780100000229 NXTCY-PMM12BAMO05001
pins B 713780100000230 NXTCY-PMM12BBM05001
8pins A 713780100000231 NXTCY-PMM12BAMO08001
12pins A 713780100000232 NXTCY-PMM12BAM12001
17pins A 713780100000233 NXTCY-PMM12BAM17001
BASH
E 3 4 5 8 12 17
BEAN 1245
351 0.14/0.25/0.34/0.5mm?/(26/24/22/20 AWG)
TIERE -25°C ~+85°C
HERRE >100 %
SERE 250V 60V 30V
EERRTR 4A 2A 1.5A
lziac=27d IP67/1P68
FefhFR e < 10mQ
e ERRE > 100MQ
e Cuzn
fEFLARE Cusn
HPLEREM R Au

045 | IEZ=-EERERRRTT IR

NXTCY-M12
ERETZEHEEE - 8 (M16X1.5 54)
=mE RYE
20.8
19.7
M1;|X_1.0 M16X1.5
Eagibari
3pins 4pins Spins 8pins 12pins 17pins Spins 4pins
A A A A A A B D
5 . 3 5 oo 5
1 1 2 1 (<) o1 PPN 2 (] 2 1

ITRIER
PvE 4RE 155 BE
2pins A 713780100000234 NXTCY-PMM12BAF02001
3pins A 713780100000235 NXTCY-PMM12BAF03001

) A 713780100000236 NXTCY-PMM12BAF04001
4pins D 713780100000237 NXTCY-PMM12BDF04006

) A 713780100000238 NXTCY-PMM12BAF05001
>pins B 713780100000239 NXTCY-PMM12BBF05001
8pins A 713780100000240 NXTCY-PMM12BAF08001
12pins A 713780100000241 NXTCY-PMM12BAF12001
17pins A 713780100000242 NXTCY-PMM12BAF17001
BARSH
PvE 3 4 5 8 12 17
#EAN 12
551 0.14/0.25/0.34/0.5mm?/(26/24/22/20 AWG)
TIERE -25°C ~+85°C
HERREL >100 %
e E 250V 60V 30V
EERT 4A 2A 1.5A
PR 1P67/1P68
Fefteale <10mQ
e GEl | > 100MQ
fEsagmEss CuzZn
LA CuSn
BRI Au

IEZ=-EERERRIRTI SRR | 040



EHFERS SR ENES

NXTCY-M12 NXTCY-M12
EREZEHEEE - 2 (PGY [54) ERETEIEEE - 8 (PG [5H)
e RIE =mE RYE
20.8
19.7
M12X1.0 GO M12X1.0 pGY
LD Eagibari
3pins 4pins Spins 8pins 12pins 17pins Spins 4pins 3pins 4pins Spins 8pins 12pins 17pins Spins 4pins
A A A A A A B D A A A A A A B D
- 6 5 N 6 7
) & 5 3 &) @ @ 8 @ B
3 A A A N o) ] 10 % A A A A oo/, N 3 0017 32°o°o°19 32"5‘"%"10 p A A2 9/,
TRHRES ITRIER
T 4RES 55 Bs PvE 4RE 155 BE
2pins A 713780100000243 NXTCY-PMM12BAM02002 2pins A 713780100000252 NXTCY-PMM12BAF02002
3pins A 713780100000244 NXTCY-PMM12BAM03002 3pins A 713780100000253 NXTCY-PMM12BAF03002
) A 713780100000245 NXTCY-PMM12BAM04002 ) A 713780100000254 NXTCY-PMM12BAF04002
4pins D 713780100000246 NXTCY-PMM12BDM04001 4pins D 713780100000255 NXTCY-PMM12BDF04002
_ A 713780100000247 NXTCY-PMM12BAM05002 ) A 713780100000256 NXTCY-PMM12BAF05002
pins B 713780100000248 NXTCY-PMM12BBM05002 >pins B 713780100000257 NXTCY-PMM12BBF05002
8pins A 713780100000249 NXTCY-PMM12BAM08002 8pins A 713780100000258 NXTCY-PMM12BAF08002
12pins A 713780100000250 NXTCY-PMM12BAM12002 12pins A 713780100000259 NXTCY-PMM12BAF12002
17pins A 713780100000251 NXTCY-PMM12BAM17002 17pins A 713780100000260 NXTCY-PMM12BAF17002
BASH BARSH
E 3 4 5 8 12 17 L 3 4 5 8 12 17
BEAN 1245 #EAN 12
551 0.14/0.25/0.34/0.5mm?*/(26/24/22/20 AWG) 551 0.14/0.25/0.34/0.5mm?/(26/24/22/20 AWG)
TIERE -25°C ~+85°C TIERE -25°C ~+85°C
TERREL >100 3% HERREL >100 %
SERE 250V 60V 30V e E 250V 60V 30V
EERRTR 4A 2A 1.5A R 4A 2A 1.5A
lyigia=273 IP67/IP68 yzia==4s3 IP67/IP68
FefhFR e <10mQ Fefteale <10mQ
e ERRE > 100MQ e GEl | > 100MQ
e Cuzn fEsagmEss CuZn
fEFLARE Cusn LA CuSn
FHAERI Au SELERIE Au

047 | IEZ-EERERRRTT IR0 IEZ=-EERERRIRTT SRR | 048



EHFERS

SR ENES

NXTCY-M12
EHREIEIREE - 22 (M16X1.5 Hif)
e RIE
LD

3pins 4pins Spins 8pins 12pins 17pins Spins

A A A A A A B

S & 3
4 N N 19 4
1 2 1 2 1%/ 1 4 b 4 1 2 2

TRHRES
T 4RES 55 Bs
2pins A 713780100000261 NXTCY-PMM12FAMO02003
3pins A 713780100000262 NXTCY-PMM12FAMO03003
) A 713780100000263 NXTCY-PMM12FAMO04003
4pins D 713780100000264 NXTCY-PMM12FDMO04018
_ A 713780100000265 NXTCY-PMM12FAMO05003
pins B 713780100000266 NXTCY-PMM12FBM05003
8pins A 713780100000267 NXTCY-PMM12FAMO08003
12pins A 713780100000268 NXTCY-PMM12FAM12003
17pins A 713780100000269 NXTCY-PMM12FAM17003
BASH
E 3 4 5 8 12 17
BEAN 1245
351 0.14/0.25/0.34/0.5mm?/(26/24/22/20 AWG)
TIERE -25°C ~+85°C
HERRE >100 %
SERE 250V 60V 30V
EERRTR 4A 2A 1.5A
lziac=27d IP67/1P68
FefhFR e < 10mQ
e ERRE > 100MQ
e Cuzn
fEFLARE Cusn
HPLEREM R Au

049 | IEZ=-E58

e IRE ]

NXTCY-M12
EREEIEEE - 8 (M16X1.5 Fi)
=mE RYE
22.0
[_L,
=
M12X1.0 M16X1.5
Eagibari
3pins 4pins Spins 8pins 12pins 17pins Spins 4pins
A A A A A A B D
5 5 6 7 6 7
2o/ 2 o/ XY 320000019 3;59(40‘01 o A A2 9/
ITRIER
PvE 4RE 155 BE
2pins A 713780100000270 NXTCY-PMM12FAF02003
3pins A 713780100000271 NXTCY-PMM12FAF03003
) A 713780100000272 NXTCY-PMM12FAF04003
4pins D 713780100000273 NXTCY-PMM12FDF04007
) A 713780100000274 NXTCY-PMM12FAF05003
>pins B 713780100000275 NXTCY-PMM12FBF05003
8pins A 713780100000276 NXTCY-PMM12FAF08003
12pins A 713780100000277 NXTCY-PMM12FAF12003
17pins A 713780100000278 NXTCY-PMM12FAF17003
BARSH
Pive 3 5 8 12 17
#EAN 12
551 0.14/0.25/0.34/0.5mm?/(26/24/22/20 AWG)
TIERE -25°C ~+85°C
HERREL >100 %
e E 250V 60V 30V
EERT 4A 2A 1.5A
PR 1P67/1P68
Fefteale <10mQ
e GEl | > 100MQ
fEsagmEss CuzZn
LA CuSn
BRI Au

IEZ=-EERERRTI R 1 050



EHFERS SR ENES

NXTCY-M12 NXTCY-M12
ERELEHREE - 2 (PG Ri) ERZEHEEE - 8 (PG Ait)
e RIE e RIE
22.0
21
=
M12X1.0
M12X1.0 PG9
LD LD
3pins 4pins Spins 8pins 12pins 17pins Spins 4pins 3pins 4pins 5pins 8pins 12pins 17pins Spins 4pins
A A A A A A B D A A A A A A B D
; (] s 6 6
D@ S 8 & g0 e 8 % 9 9
1 2 h 2 \ 4 1 4 108 A A s B A 00/, A9 O/ A : y 3\0%° 90 3\0® %10/0 h A° 9/,
TRHRES TERES
T 4RES 55 Bs T 4RES = RS
2pins A 713780100000279 NXTCY-PMM12FAMO02004 2pins A 713780100000288 NXTCY-PMM12FAF02004
3pins A 713780100000280 NXTCY-PMM12FAMO03004 3pins A 713780100000289 NXTCY-PMM12FAF03004
apins A 713780100000281 NXTCY-PMM12FAMO04004 apins A 713780100000290 NXTCY-PMM12FAF04004
D 713780100000282 NXTCY-PMM12FDMO04019 D 713780100000291 NXTCY-PMM12FDF04012
) A 713780100000283 NXTCY-PMM12FAMO05004 ) A 713780100000292 NXTCY-PMM12FAF05004
pins B 713780100000284 NXTCY-PMM12FBMO05004 pins B 713780100000293 NXTCY-PMM12FBF05004
8pins A 713780100000285 NXTCY-PMM12FAMO08004 8pins A 713780100000294 NXTCY-PMM12FAF08004
12pins A 713780100000286 NXTCY-PMM12FAM12004 12pins A 713780100000295 NXTCY-PMM12FAF12004
17pins A 713780100000287 NXTCY-PMM12FAM17004 17pins A 713780100000296 NXTCY-PMM12FAF17004
BASH BASH
E 3 4 5 8 12 17 E 3 4 5 8 12 17
BEAN 1245 LA 124
551 0.14/0.25/0.34/0.5mm?*/(26/24/22/20 AWG) 351 0.14/0.25/0.34/0.5mm?/(26/24/22/20 AWG)
THRRE -25°C ~+85°C TIERE -25°C ~+85°C
HERRE >100 % TERREL >100 %
SERE 250V 60V 30V EErRRE 250V 60V 30V
EERR 4A 2A 1.5A EUEBTR 4A 2A 1.5A
lyigia=273 IP67/IP68 lhigia==73 IP67/IP68
FefhFR e <10mQ FefheRpE < 10mQ
e ERRE > 100MQ et GEl ) > 100MQ
e CuzZn SEETAR Cuzn
fEFLARE CuSn fEFLARL CuSn
HPLEREM R Au SELEREM R Au

051 | IEZ=-E EREIRIRIRTT SRR RS IEZ=-EERERRRTI SR |1 052



EHFERS

SR ENES

NXTCY-M12 NXTCY-M12
EHRZEIEEE - 2 (GE=H) ERETEHGEE - 8 (GE=5H)
e RIE =mE RYE
25.2£0.2 -
22.2 —=f
3.0 = S
o
i ]
| | =
i
o
5
s
LD Eagibari
3pins 4pins Spins 8pins 12pins 17pins Spins 4pins 3pins 4pins Spins 8pins 12pins 17pins Spins 4pins
A A A A A A B A A A A A A B D
4 3 4 3 § ¢ oo 8765 3 4 3 3 4 3, 4 40505 50207 50;073 3, 4 3, 4
&) & B & SRR
1 2 2 2 \ 4 A 4 3 A 3 1 2 1 2 1 ) o1 N~/ PR 2 A 2 (l
TRHRES ITRIER
T 4RES 55 Bs PvE 4RE 155 BE
2pins A 713780100000297 NXTCY-PMM12LAM02001 2pins A 713780100000306 NXTCY-PMM12LAF02001
3pins A 713780100000298 NXTCY-PMM12LAM03001 3pins A 713780100000307 NXTCY-PMM12LAF03001
) A 713780100000299 NXTCY-PMM12LAM04001 ) A 713780100000308 NXTCY-PMM12LAF04001
4pins D 713780100000300 NXTCY-PMM12LDM04001 4pins D 713780100000309 NXTCY-PMM12LDF04001
) A 713780100000301 NXTCY-PMM12LAMO05001 ) A 713780100000310 NXTCY-PMM12LAF05001
pins B 713780100000302 NXTCY-PMM12LBMO05001 >pins B 713780100000311 NXTCY-PMM12LBF05006
8pins A 713780100000303 NXTCY-PMM12LAMO08001 8pins A 713780100000312 NXTCY-PMM12LAF08001
12pins A 713780100000304 NXTCY-PMM12LAM12001 12pins A 713780100000313 NXTCY-PMM12LAF12001
17pins A 713780100000305 NXTCY-PMM12LAM17001 17pins A 713780100000314 NXTCY-PMM12LAF17001
BASH BARSH
E 3 4 5 8 12 17 TE 3 4 5 8 12 17
BEAN 1245 #EAN 12
551 0.14/0.25/0.34/0.5mm?*/(26/24/22/20 AWG) 551 0.14/0.25/0.34/0.5mm?/(26/24/22/20 AWG)
TIERE -25°C ~+85°C TIERE -25°C ~+85°C
TERREL >100 3% HERREL >100 %
SERE 250V 60V 30V e E 250V 60V 30V
EERRTR 4A 2A 1.5A R 4A 2A 1.5A
lyigia=273 IP67/IP68 yzia==4s3 IP67/IP68
FefhFR e <10mQ Fefteale <10mQ
e ERRE > 100MQ e GEl | > 100MQ
e Cuzn fEsagmEss CuZn
fEFLARE Cusn LA CuSn
FHAERI Au SELERIE Au

053 | IEZ=-E535

EIRAR IR SEIRMRS

IEZR-EERERBIRTT =R | 054



EHFERS SR ENES

NXTCY-M12 NXTCY-M12
EIREEIEEE - 22 (PGO /5H) EIRREIEE - 8 (PGY )
] L] FRE RY&
27.2 258
21 3 19.7
r-— 3
M12X1.0 PG9 M12X1.0 PG9
HHLDH LD
3pins 4pins Spins 8pins 12pins 17pins Spins 4pins 3pins 4pins 5pins 8pins 12pins 17pins Spins 4pins
A A A A A A B D A A A A A A B D
1 \ \ ‘ of 6 \e seiZo 9 \ 1 Y 7 \ 7o oY\ ¥osoY 46 2D ATAS 5?'% o\ ¥ 1 oY
ITHRIER ITEER
TE Lot TS S SE Lot S S
2pins A 713780100000324 NXTCY-PMM12BAF02006 2pins A 713780100000333 NXTCY-PMM12BAMO02007
3pins A 713780100000325 NXTCY-PMM12BAF03006 3pins A 713780100000334 NXTCY-PMM12BAMO03007
apins A 713780100000326 NXTCY-PMM12BAF04006 apins A 713780100000335 NXTCY-PMM12BAMO04007
D 713780100000327 NXTCY-PMM12BDF04010 D 713780100000336 NXTCY-PMM12BDM04009

. A 713780100000328 NXTCY-PMM12BAF05006 X A 713780100000337 NXTCY-PMM12BAMO05007
pins B 713780100000329 NXTCY-PMM12BBF05007 pins B 713780100000338 NXTCY-PMM12BBM05009
8pins A 713780100000330 NXTCY-PMM12BAF08006 8pins A 713780100000339 NXTCY-PMM12BAMO08007
12pins A 713780100000331 NXTCY-PMM12BAF12006 12pins A 713780100000340 NXTCY-PMM12BAM12007
17pins A 713780100000332 NXTCY-PMM12BAF17006 17pins A 713780100000341 NXTCY-PMM12BAM17007
BARSH BARSH
O 3 4 5 8 12 17 L 3 4 5 8 12 17
&SN PCB #&tRzt EEAN PCB #tRzt
S - S -
THRRE -25°C ~+85°C TIERE -25°C ~+85°C
HRIRREL >100 % TERIREL >100 %
FERBE 250V 60V 30V FEBE 250V 60V 30V
HERRI 4A 2A 1.5A HERBIR 4A 2A 1.5A
[9aEiak: 24 IP67/1P68 [aEiak:AE IP67/1P68
FEfRFEIE <10mQ FEATEREE <10mQ
#a25FaE > 100MQ pezEliz > 100MQ
JEERR Cuzn iREAIR CuZn
faFLATE Cusn fEFLTE Cusn
EHLEEM R Au EHFLEEMR Au

055 | IE%=-%55 e IRES St E] EZR-BERRRR S =IRME 1 056



EHFERS

SR ENES

NXTCY-M12
EREIRIREE - 22 (PGY AU
e RIE
3
LD
3pins 4pins Spins 8pins 12pins 17pins Spins 4pins
A A A A A A B D
€2 & )
4 N N 19 4
? 4 3 A Y ) / SR A A A A
TRHRES
T 4RES 55 Bs
2pins A 713780100000351 NXTCY-PMM12FAM02009
3pins A 713780100000352 NXTCY-PMM12FAMO03009
) A 713780100000353 NXTCY-PMM12FAMO04009
4pins D 713780100000354 NXTCY-PMM12FDMO04009
_ A 713780100000355 NXTCY-PMM12FAMO05009
pins B 713780100000356 NXTCY-PMM12FBMO05009
8pins A 713780100000357 NXTCY-PMM12FAMO08009
12pins A 713780100000358 NXTCY-PMM12FAM12009
17pins A 713780100000359 NXTCY-PMM12FAM17009
BASH
E 3 4 5 8 12 17
BEAN PCB #&tR=t
S -
TIERE -25°C ~+85°C
HERRE >100 %
SERE 250V 60V 30V
EERRTR 4A 2A 1.5A
iR IP67/1P68
FefhFR e < 10mQ
#a25FaE > 100MQ
e Cuzn
fEFLARE Cusn
HPLEREM R Au

057 | [Ez=-5%3

EIRRRTI IR

NXTCY-M12
EREZLEHIEE - 8 (PGY HUH)
mE RYE
27.0
TL. ‘ .
M12X1.0 M16X1.5
Eagibari
3pins 4pins Spins 8pins 12pins 17pins Spins 4pins
A A A A A A B D
75 o\ YosoY ‘é°° 45°gg'5°7a 50%0708 ¥ ¢ %0 oY
‘ 2 o 1 37 39 “32 2 1 21
TRIER
BE 4RI T8RS BS
2pins A 713780100000360 NXTCY-PMM12FAF02009
3pins A 713780100000361 NXTCY-PMM12FAF03009
) A 713780100000362 NXTCY-PMM12FAF04009
4pins D 713780100000363 NXTCY-PMM12FDF04009
) A 713780100000364 NXTCY-PMM12FAF05009
>pins B 713780100000365 NXTCY-PMM12FBF05010
8pins A 713780100000366 NXTCY-PMM12FAF08009
12pins A 713780100000367 NXTCY-PMM12FAF12009
17pins A 713780100000368 NXTCY-PMM12FAF17009
BARSH
TE 3 4 5 8 12 17
B PCB #atRzt
A -
TIERE -25°C ~+85°C
HERREL >100 %
EERBE 250V 60V 30V
EERT 4A 2A 1.5A
PR 1P67/1P68
ERtERE <10mQ
e GEl | > 100MQ
bappa Cuzn
HEFLATE CuSn
BRI Au

IEZ=-EERERPRTI R | 058



EHFERS

SR ENES

NXTCY-M12
EHRERIGEE - 22 (M12X1.0 Fitt)
F=mE RIE
M12X1.0
53T
3pins 4pins 5pins 8pins 12pins 17pins 5pins 4pins
A A A A A A B D

TRHRES

T 4RES RS Bs

2pins A 713780100000369 NXTCY-PMM12FAMO02012

3pins A 713780100000370 NXTCY-PMM12FAMO03012
) A 713780100000371 NXTCY-PMM12FAMO04012

4pins D 713780100000372 NXTCY-PMM12FDMO04012
_ A 713780100000373 NXTCY-PMM12FAMO05012

pins B 713780100000374 NXTCY-PMM12FBM05012

8pins A 713780100000375 NXTCY-PMM12FAMO08012

12pins A 713780100000376 NXTCY-PMM12FAM12012

17pins A 713780100000377 NXTCY-PMM12FAM17012

BASH

E 3 4 5 8 12 17

b Y PCB #&tR=t

550 -

TIERE -25°C ~+85°C

HERRE >100 %

SERE 250V 60V 30V

EERRTR 4A 2A 1.5A

lziac=27d IP67/1P68

FERtEBEE < 10mQ

ezl > 100MQ

iEEtE Cuzn

EFLgE Cusn

HPLEREM R Au

059 | IEZ=-EERERRRTT IR

NXTCY-M12
ERLEIEEE - 8 (M12X1.0 Fi)
mE RYEA
24.5
6.2
3.0
L
== 3|
1o | &
D
M12X1.0 M16X1.5
HELHTE
3pins 4pins Spins 8pins 12pins 17pins Spins 4pins
A A A A A A B D
5 5 6 7 6 7
oo/, \° ©°/, Sy 32°o°°°19 32059‘46010 ) A A2 9/,
TRIER
PvE 4RI T8RS BS
2pins A 713780100000378 NXTCY-PMM12FAF02010
3pins A 713780100000379 NXTCY-PMM12FAF03010
) A 713780100000380 NXTCY-PMM12FAF04010
4pins D 713780100000381 NXTCY-PMM12FDF04014
) A 713780100000382 NXTCY-PMM12FAF05010
>pins B 713780100000383 NXTCY-PMM12FBF05011
8pins A 713780100000384 NXTCY-PMM12FAF08010
12pins A 713780100000385 NXTCY-PMM12FAF12010
17pins A 713780100000386 NXTCY-PMM12FAF17010
BARSE
TE 3 4 5 8 12 17
B PCB #&tR=t
A -
TIERE -25°C ~+85°C
HERIREL >100 %
EERBE 250V 60V 30V
EERT 4A 2A 1.5A
PR 1P67/1P68
ERtERE < 10mQ
e GEl | > 100MQ
bappa Cuzn
HEFLATE CuSn
LR Au

IEZ=-EERERRTI =R | 060



EHFERS SR ENES

NXTCY-M12 NXTCY-M12
EREARIREE - ZL - 2 (M12X1.0 Fifii) BRI - Tk - 8§ (M12X1.0 FiH)
~mE RYE mE RYEA
25.0
g 16.2 g g 15452 * n
2 14.2 3 © <
- 2 13.5 h
uﬁ I
= =|
M12X1,0—/ Egd M12X1.0 j 8.0
HELHMh HELHTE
3pins 4pins 5pins 8pins 12pins 3pins 4pins 5pins 8pins 12pins
A A A A A A A A A A
6 5 6
R & SRS CR R
A 3 A \ A ’1 23 °) / 00/, oo/, 30, 0‘1’7 RN
iITRIER TRIER
ER i) RS Bs TE 4RI T8RS BS
3pins A 713780100000387 NXTCY-PMM12FAMO03016 3pins A 713780100000392 NXTCY-PMM12FAF03011
4pins A 713780100000388 NXTCY-PMM12FAMO04016 4pins A 713780100000393 NXTCY-PMM12FAF04011
5pins A 713780100000389 NXTCY-PMM12FAMO05016 5pins A 713780100000394 NXTCY-PMM12FAF05011
8pins A 713780100000390 NXTCY-PMM12FAMO08016 8pins A 713780100000395 NXTCY-PMM12FAF08011
12pins A 713780100000391 NXTCY-PMM12FAM12016 12pins A 713780100000396 NXTCY-PMM12FAF12011
BARSH BARSE
T 3 4 5 8 12 s 3 4 5 8 12
BEEAR PCB ###R=0 B PCB f&EtfR=t
550 - A -
TreeE 25°C ~+85°C TIERE -25°C ~+85°C
TERIREL >100 % HERIREL >100 %
FERBE 250V 60V 30V EEBE 250V 60V 30V
EERIR 4A 2A 1.5A HREETR 4A 2A 1.5A
[P IP67/1P68 [E =Y IP67/1P68
berg =Tzl <10mQ EftEa e < 10mQ
et Gl > 100MQ et Gl > 100MQ
bar Cuzn bappat Cuzn
ErLigE CuSn HEFLATR CuSn
SRR Au SHELEEMR Au

061 | IEZ=-E ERERIRIRTT SRR IEZ=-EERERRTI R | 062



EHFERS

SR ENES

NXTCY-M12
Y BUEESL - NET R
e RIE
LD

4pins Spins 8pins 12pins 5pins 4pins

A A A A B D

s

4 3 4 4 a‘ 4 3

3 S )
TRES
T 4RES 55 Bs

) A 713780100000397 NXTCY-SPM12YA04003
Apins D 713780100000398 NXTCY-SPM12YD04001
) A 713780100000399 NXTCY-SPM12YA05003
>pins B 713780100000400 NXTCY-SPM12YB05001
8pins A 713780100000401 NXTCY-SPM12YA08003
12pins A 713780100000402 NXTCY-SPM12YA12001
BASH
E 4 5 8 12
LA
S -
TIERE -25°C ~+85°C
HERRE >100 %
SRERE 250V 60V 30V
EERIR 4A 2A 1.5A
lhziac=274 IP67/1P68
iR e <10mQ
e FRRE > 100MQ
TR Cuzn
fEFLAR CusSn
HPLEREM R Au

063 | IEZ=-EE

RARR T SR

NXTCY-M12
Y BUEiRSL - BT
=mE RYE
45.5
34.5
M12X1.D’§
o
) oRA
F a5
Eagibari
4pins Spins 8pins 12pins 5pins 4pins
A A A A B D
5 6
Y0 oY} ‘;°" 450°g°g°o7a YosoY 4o oY
2‘ 37 320‘1’000019 2 oOO 1 2‘
1
ITRIER
PvE 4RE 155 BE
) A 713780100000403 NXTCY-SPM12YA04004
Apins D 713780100000404 NXTCY-SPM12YD04002
) A 713780100000405 NXTCY-SPM12YA05004
>pins B 713780100000406 NXTCY-SPM12YB05002
8pins A 713780100000407 NXTCY-SPM12YA08004
12pins A 713780100000408 NXTCY-SPM12YA12002
BASH
pive 4 5 8 12
BEAN
553 -
TIERE -25°C ~+85°C
TRRIREL >100 %
e E 250V 60V 30V
EREERT 4A 2A 1.5A
PR IP67/1P68
BeftealR <10mQ
EarGEl | > 100MQ
TR CuZn
HEFLATE CuSn
LR Au

IEZR-EERERBIRTT =R | 064



EHFERS SR ENES

NXTCY-M12 NXTCY-M12
Y BUGEIRSL - A8 Y BUgEigsL - B NS
~mE RYE mE RYE
45.5 45.5
34.5 34.5
14.5 14.5,
MTPX ‘0/% M12X1,0E
R O
g cNe | Y
1&%45 g %
38.5 20
38.5
LD Eagibari
4pins 5pins 8pins 12pins Spins 4pins 4pins Spins 8pins 12pins 5pins 4pins
A A A A A A A A B B D D A A A A A A A A B B D D
5 5 6 6 3 7, o 5 5, g 7
BEPRGICEE Rt R e ) &y D
A L, O O/, \ ARNITA \ y Y o\ 2: 3205"000'9 A L \o o) A L, A° O ) h AN° 9/, 3 A \ y X o) / 3205”°0°19
iITRIER TRIER
T 4RES RS Bs TE 4RI T8RS BS
) A 713780100000409 NXTCY-SPM12YA04001 ) A 713780100000415 NXTCY-SPM12YA04002
Apins D 713780100000410 NXTCY-SPM12YD04003 Apins D 713780100000416 NXTCY-SPM12YD04004
) A 713780100000411 NXTCY-SPM12YA05001 ) A 713780100000417 NXTCY-SPM12YA05002
>pins B 713780100000412 NXTCY-SPM12YB05003 >pins B 713780100000418 NXTCY-SPM12YB05004
8pins A 713780100000413 NXTCY-SPM12YA08001 8pins A 713780100000419 NXTCY-SPM12YA08002
12pins A 713780100000414 NXTCY-SPM12YA12003 12pins A 713780100000420 NXTCY-SPM12YA12004
BASH BASH
HEL 4 12 & 4 5 8 12
B B
S - 2 -
TIERE -25°C ~+85°C T{ERE -25°C ~+85°C
TERIREL >100% TEIRREL >100 %
ERErRE 250V 30V e E 250V 60V 30V
EERBTR 4A 1.5A EREERT 4A 2A 1.5A
PR IP67/IP68 PR IP67/1P68
iR e <10mQ BeftealR <10mQ
et Gl > 100MQ Gl > 100MQ
AR Cuzn AR Cuzn
iEfLigE CuSn LA CuSn
HPLEREM R Au LR Au

065 | IEZ=-E5H

CIRRRRTT IR MR

IEZ=-EERERRRTT R | 060



EHFERS

SR ENES

NXTCY-M12

Y BUSIRSL - AT

FEmEl RIE

M12XH.

il |
¥

bAE{baki]

4pins 5pins 8pins 12pins Spins 4pins
A A A B D

TRES
T 4RES RS Bs
_ A 713780100000421 NXTCY-SPM12TA04001
Apins D 713780100000422 NXTCY-SPM12TD04001
) A 713780100000423 NXTCY-SPM12TA05001
>pins B 713780100000424 NXTCY-SPM12TB05001
8pins A 713780100000425 NXTCY-SPM12TA08001
12pins A 713780100000426 NXTCY-SPM12TA12001
BASH
E 4 5 8 12
B
S -
TIERE -25°C ~+85°C
HERRE >100 %
SRERE 250V 60V 30V
EERBTR 4A 2A 1.5A
lhziac=274 IP67/IP68
FERtEBEE <10mQ
et Gl > 100MQ
AR Cuzn
iEfLigE CusSn
HPLEREM R Au

067 | [EZ=-E%3

EIRRRTI IR

NXTCY-M12
Y Bigkigsl - 858
mE RYE
Eagibari

4pins Spins 8pins 12pins Spins 4pins

A A A A B D
3 J

@ & B @

2 1 2 f I o1 2 4 2 A 2 1
TRIER
PvE 4RE T8RS BS

) A 713780100000427 NXTCY-SPM12TA04002
Apins D 713780100000428 NXTCY-SPM12TD04002
) A 713780100000429 NXTCY-SPM12TA05002

>pins B 713780100000430 NXTCY-SPM12TB05002
8pins A 713780100000431 NXTCY-SPM12TA08002
12pins A 713780100000432 NXTCY-SPM12TA12002
BASH
pive 4 5 8 12
B
2 -
TIERE -25°C ~+85°C
TRRIREL >100 %
e E 250V 60V 30V
EREERT 4A 2A 1.5A
PR IP67/1P68
BeftealR <10mQ
et > 100MQ
bappat Cuzn
HEFLATE CuSn
LR Au

IEZ=-EERERRTI R | 068



EHFERS

SR ENES

NXTCY-M12
Bk - A%EB (PGY TER)
P RIHE
35.5:0.3
— Il
g il T
¥ | cs
\llllllll! |
Eibaxin
4pins Spins 8pins 12pins Spins 4pins
A A A A A A A A B B D D

5 6
4 3 3 4 4 O3\e 7 R
o o 0504 & Awo . "
7! 3 30 o7
1 PN 1 NG ) R g
1 2 2 1

[

5, J

o

5
YA
3\owo ofy
No-oJ,

4 4, 3
Yoso\
0%
1 2 A 1 2

NXTCY-M12
BEiEsL - 2R (PGY)
e RIE
13+0.2
22.1
M12X1.0
LD
4pins 5pins 8pins 12pins Spins 4pins
A A A A B D
6
€2 s @ @
TRHRES
T 4RES 55 Bs
) A 713780100000439 NXTCY-SPM12SA04002
Apins D 713780100000440 NXTCY-SPM12SD04002
) A 713780100000441 NXTCY-SPM12SA05002
>pins B 713780100000442 NXTCY-SPM12SB05002
8pins A 713780100000443 NXTCY-SPM12SA08002
12pins A 713780100000444 NXTCY-SPM12SA12002
BASH
E 4 5 8 12
LA
S
TIERE -25°C ~+85°C
HERRE >100 %
SRERE 250V 60V 30V
EERIR 4A 2A 1.5A
lhziac=274 IP67/1P68
iR e <10mQ
e FRRE > 100MQ
TR Cuzn
fEFLAR CusSn
HPLEREM R Au

069 | IEZ=-E5H

CIRRRRTT IR MR

TRIER
PvE 4RE T8RS BS
) A 713780100000445 NXTCY-SPM12SA04001
Apins D 713780100000446 NXTCY-SPM12SD04001
) A 713780100000447 NXTCY-SPM12SA05001
>pins B 713780100000448 NXTCY-SPM12SB05001
8pins A 713780100000449 NXTCY-SPM12SA08001
12pins A 713780100000450 NXTCY-SPM12SA12001
BASH
pive 4 5 8 12
B
2 -
TIERE -25°C ~+85°C
TRRIREL >100 %
e E 250V 60V 30V
EREERT 4A 2A 1.5A
PR IP67/1P68
BeftealR <10mQ
et > 100MQ
AR CuzZn
HEFLATE CuSn
LR Au

IEZ=-E2R0RERTS

ES

et 1070



EHFERS SR ENES

NXTCY-M12 NXTCY-M12
SRS - NS M12 2348 RJ45 B5§8sL (90°)
~mE RYE mE RYEA
S } 47
< 68.9 REF
S 12.54=—
s =— 35.0 REF —~
T

15.

%M12X1.0
—=J15.0-+=—
M12X1.0

%ﬁ@ﬂ:>

- ®
[— 19.6 —=|

M16X1.5

LD Eagibari
4pins Spins 8pins 12pins Spins 4pins 8pins 4pins RJ45
A A A A A A A A B B D D A D
5 6 6
DR RO HEeE 38 & @ B
A h A O/ ) AR \ 23 320017 9‘ / 3205"%0‘9 A ANV A s, AO 9/, \ / A A L
TRES ITRIER
T 4RES 55 Bs PvE 4RE 155 BE
) A 713780100000451 NXTCY-SPM12SA04007 4pins D 713780100000457 NXTCY-SPM12SD04005
Apins D 713780100000452 NXTCY-SPM12SD04007 8pins A 713780100000458 NXTCY-SPM12SA08005
) A 713780100000453 NXTCY-SPM12SA05007 BARSY
>pins B 713780100000454 NXTCY-SPM12SB05007 g 4 8
8pins A 713780100000455 NXTCY-SPM12SA08007 i35 7ap >
12pins A 713780100000456 NXTCY-SPM12SA12007 553 -
BASH TIERE -25°C ~+85°C
E 4 5 8 12 TRROREL >100 %
LA = EEBE 250V 30V
S - EERRT 4A 2A
TIERE -25°C ~+85°C Eia==4s3 1P67
TERIREL >100 % Fefteale <10mQ
BERE 250V 60V 30V Hass e > 100MQ
EERBTR 4A 2A 1.5A fEsagmEss CuZn
lhziac=274 IP67/1P68 LA CuSn
iR e <10mQ BRI Au
e FRRE > 100MQ
TR Cuzn
fEFLAR CusSn
HPLEREM R Au

071 | IEZ=-EBRERRIRTT IR IEZ=-EERERRIRTT SRR 1072



EHFERS

SR ENES

NXTCY-M12
M12 834 RJ45 §&i%sk (90°)
~mE RYE
[ 47
16—
|
; 2
!
M12X1.0
HELHMh
8pins 4pins RJ45
A D
46 O\ 16 oy (=]
& & B
iITRIER
ER i) RS Bs
4pins D 713780100000459 NXTCY-SPM12SD04003
8pins A 713780100000460 NXTCY-SPM12SA08003
BARSH
O 4 8
b Y -
5530
TIERE -25°C ~+85°C
TERREL >100 %
HERBE 250V 30V
EUERRTR 4A 2A
lhziac=27d P67
FERtEBEE <10mQ
pEZeElE > 100MQ
iEEtE Cuzn
ErLgE CuSn
SRR Au

073 | IEZs-EERERRRT SR

NXTCY-M12
M12 20%5 RJ45 5542k (180°)
mE RYEA
49.
’_12_-5“ '
!
<Y )
X U
= M16X1.5
=
HELHTE
8pins 4pins RJ45
A
6 4 4,
& @ [
TRIER
PvE 4RI T8RS BS
4pins D 713780100000461 NXTCY-SPM12SD04006
8pins A 713780100000462 NXTCY-SPM12SA08006
BARSE
HEL 4 8
B -
2 -
TIERE -25°C ~+85°C
HERIREL >100 %
e E 250V 30V
EREERTR 4A 2A
PR 1P67
EAtERE <10mQ
Eat Gl > 100MQ
bappa Cuzn
HEFLATE CuSn
SHFLEEMR Au

IEZR-EERERFRTT SRR 1074



EHFERS

SR ENES

NXTCY-M12
M12 884& RJ45 1%L (180°)
~mE RIE
jfe———— REF 49.2——=
REF 47
|—1 65—
L
S
M12X1.0 ‘
LD
8pins 4pins RJ45
A D
N 16 oy [ ]
iITRIER
T i) RS Bs
4pins D 713780100000463 NXTCY-SPM125D04004
8pins A 713780100000464 NXTCY-SPM12SA08004
BASH
O 4 8
b Y -
5530
TIERE -25°C ~+85°C
RIS >100 %
SERE 250V 30V
EUERRTR 4A 2A
lhziac=27d P67
FERtEBEE < 10mQ
#a25FaE > 100MQ
iEEtE Cuzn
ErLgE CusSn
EPLEEM R Au

075 | IEEZ=-EE

N
G|

EIRRRTI IR

NXTCY-M12
SMT $HEE - 2
mE RYE
Eagibari
4pins Spins 8pins 12pins
A A A A
TRIER
PvE 4RI T8RS BS
4pins A 713780100000465 NXTCY-PMM12FAMO04018
5pins A 713780100000466 NXTCY-PMM12FAMO05017
8pins A 713780100000467 NXTCY-PMM12FAMO08017
12pins A 713780100000468 NXTCY-PMM12FAM12017
BARSH
S 4 5 8 12
i35 7ap0 =
5730 -
TIERE -25°C ~+85°C
R >100 %
EEBE 250V 60V 30V
EERRT 4A 2A 1.5A
hitia=d 1P67/1P68
Ffres e <10mQ
HH R e > 100MQ
EEHAR CuZn
LR CuSn
SHELERME Au

IEZ-EERERRRT R

12

fitEg 1 076



EHFERS

SR ENES

NXTCY-M12
SMT J&HEE -
mE RYEA
HELHTE

4pins

X

Re 3
TRIER
PvE 4RI T8RS BS
8pins X 713780100000465 NXTCY-PMM12FXF08017
BEARSE
& 8
B -
2 -
TIERE -40°C ~+85°C
BRIRE >100 %
e E 50V AC/60V DC
Ve 0.5A
P& P67
EAtEErE <5mQ
et > 100MQ
bappa Cuzn
HEFLATE CuSn
LR Au

NXTCY-M12
SMT $EHEE - 88
e RIE
1.35
17.0
!
g
|
= 1
l~—12.8420.25 — ( 3
banas Gam e
I 24 o
EaEibaxin)
4pins 5pins 8pins Spins 4pins
A A A D
s
A° O/, NI 30017 \°, A2 9/
TRES
TE Eoic) 1IRS B
. A 713780100000469 NXTCY-PMM12FAF04017
Apins D 713780100000470 NXTCY-PMM12FDF04017
Spins A 713780100000471 NXTCY-PMM12FAF05017
8pins A 713780100000472 NXTCY-PMM12FAF08017
BARASY
E 4 5 12
&
M
TERE -25°C ~+85°C
FEHRIREL >100%
HERRE 250V 60V
RRERRIR 4A 1.5A
PSR IP67/1P68
FEfRERRE <10mQ
il U > 100MQ
fEEtE Cuzn
fEFATR CuSn
EHFLERER Au

077 | IEZ=-EHBERIRRTT SR AL

IEZ=-EERERRIRTT SRR 1078



EHFERS

SR ENES

NXTCY-M12
THR HREE - 2
e RIE
F—29.3—
21.3
0
|
T
6.0 —
2.5
5
0.9 0.9 0.6
EaEibaxin)
4pins 5pins 8pins 12pins 17pins
D A A A A
5 7 7 6
€3 &) & &
1 N 1 2 ) A 1 2 1 2
TRHRES
T Eoic) 1IRS B
4pins D 713780100000474 NXTCY-PMM12FDM04001
5pins A 713780100000475 NXTCY-PMM12FAMO05001
8pins A 713780100000476 NXTCY-PMM12FAMO08001
12pins A 713780100000477 NXTCY-PMM12FAM12001
17pins A 713780100000478 NXTCY-PMM12FAM17001
BASH
AL 4 8 12 17
BB THR
S -
TRRE -25°C ~+85°C
TERIREL >100 %
FERBE 250V 60V 30V
HERBIR 4A 2A 1.5A
FirsER IP67
$EATERRE <10mQ
#a5FaE > 100MQ
SRR CuZn
fEFLARE CuSn
SRR Au

079 | Ez=-82

+

N
B

122
<]

RARIR TS SRR

NXTCY-M12
THR {EE - B
F=RE RIHE
=~ @8.15 =
|
[ il
7 o o 0.9 20.8
Eibaxin
4pins 5pins Spins 8pins 12pins 17pins
D A B A A A
5 6 7
2 1 2 1 2 A N o1 PRI
THEER
o pi) THE BE
4pins D 713780100000479 NXTCY-PMM12FDF04001
5pins A 713780100000480 NXTCY-PMM12FAF05001
8pins A 713780100000481 NXTCY-PMM12FAF08001
12pins A 713780100000482 NXTCY-PMM12FAF12001
17pins A 713780100000483 NXTCY-PMM12FAF17001
BASH
o 4 5 8 12 17
=25 7k THR
A -
TERE -25°C ~+85°C
TRIORER >100 %
EERRE 250V 60V 30V
BT aA 2A 1.5A
PR IP67
EAEBlE <10mQ
#E5ERIE > 100MQ
REHAR CuZn
fEFLAZR CuSn
EHFLEEEMY Au

IEZ=-EERERRTI R | 080



EHFERS

SR ENES

NXTCY-M12
THR $EEE - 2
~mE RYE
~210.3 ~|
3 J 1 [H!
5@ | o milin
m
m -
el
i A
N 5-0
@ 2-@1.5
HELHMh
4+FE
L
6g
iITRIER
ER i) RS Bs
5pins L 713780100000484 NXTCY-PMM12FLM17001
BRSH
ey 5
b Y THR
5530
TIERE -25°C ~+85°C
ERREL >100 %
e E 63V
EERBTR 16A
lziac=27d P67
feg LTzl <10mQ
et Gl > 100MQ
iEEtE Cuzn
iEfLgE CuSn
SRR Au

081 | IEZ=-E ERERIFIRTT SRR

NXTCY-M12
THR EEE - 8
mE RYEA
f=@10.3 =~
L7
52| I il
% C )
[ il ¥
]
N 5-@1.3
@ 2-91.5
HELHTE
4+FE
L
GO
SO OZ
TRIER
TE 4RI T8RS BS
5pins L 713780100000485 NXTCY-PMM12FLF17001
BEARSE
& 5
B THR
2 -
TIERE -25°C ~+85°C
BRIRE >100 %
EEFBE 63V
EREERTT 16A
P& P67
EAtEErE <10mQ
et > 100MQ
bappa Cuzn
HEFLATE CuSn
LR Au

IEZ=-EERERRTI R | 082



EHFERS

SR ENES

NXTCY-M12
PCB iEfiaailEE - 2
mE RYEA
32.6
29.8 -PCB
* [
T =
- = o
28 1 = ¢
L —=
f N ': '
HELHTE
8pins
A
73
1 2
TRIER
PvE 4RI T8RS BS
8pins A 713780100000488 NXTCY-PMM12FAMO08002
BEARSE
& 8
B PCB f&##R
2 -
TIERE -25°C ~+85°C
HRRIREL >100 %
e E 30V
EREERTT 2A
P& 1P67/1P68
Befteate <10mQ
et > 100MQ
bappa Cuzn
HEFLATE CuSn
LR Au

NXTCY-M12
PCB iEECEHEREE - 2
~mE RYE
32.6
29.8 | pcB
{ ) [
- =
Ci IR B [ i= O
Sy = o
i s % i
HELHMh
4pins 5pins
A A
4, 3 4 3
€2
iITRIER
ER i) RS Bs
4pins A 713780100000486 NXTCY-PMM12FAMO04002
5pins A 713780100000487 NXTCY-PMM12FAM05002
BRSH
TE 4 5
b Y PCB #&#R
553
TIERE -25°C ~+85°C
TERREL >100 %
R E 250V 60V
R 4A
lhziac=27d IP67/IP68
berg LTzl <10mQ
et Gl > 100MQ
iEEtE Cuzn
EfLgE CuSn
SRR Au

083 | [Ez=-&E55

EIRAR IR SEIRMRS

IEZR-EERERBIRTT =R | 084



EHFERS

SR ENES

NXTCY-M12
PCB iEFEESEEE - 2
mE RYEA
f7(_ PCB
% )
N
K
— — = S
©w
Q
—=1 10.8£0.05 N |
3.40.25
25.0
HELHTE
X
5 !y
TRIER
PvE 4RI T8RS BS
8pins A 713780100000488 NXTCY-PMM12FAMO08002
BEARSE
TE 8
B PCB #&E#R
2 -
TIERE -25°C ~+85°C
HRRIREL >100 %
e E 50V AC/60V DC
EREERTT 0.5A
P& 1P67/1P68
Befteate <10mQ
et > 100MQ
bappa CuzZn
HEFLATE CuSn
LR Au

NXTCY-M12
PCB iEFoEEHAEE - B
~mE RIE
8r
27
©
© ,—PCB
Q
f T
N N
o o
+l +l
(o} —_— - = o
o ©
) N
i i
} S
3.7+0.25
25.0
LD
4pins Spins 8pins
A A A
5
3, ¢ 3 46 9 3\6
[o2Ne] 050
o 80
iITRIER
T i) RS Bs
o A 713780100000489 NXTCY-PMM12FAF04002
Ins
P D 713780100000490 NXTCY-PMM12FDF04002
5pins A 713780100000491 NXTCY-PMM12FAF05002
8pins A 713780100000492 NXTCY-PMM12FAF08002
BRSH
E 4 5 8
B PCB #H#R
Lol
TIERE -25°C ~+85°C
TR >100 %
EMERE 250V 60V
EERBR 4A 2A
PSR IP67/IP68
FEfnEspE <10mQ
etoeeliz] > 100MQ
AR Cuzn
EFLAR Cusn
SFLEEME Au
085 | IEZ=-EERe RS IR M

IEZ=-EERERRTI IR | 086



EHFERS

SR ENES

NXTCY-M12

EREEIEEE - 8 (M16X1.5 Fi)

FEE

RYE

NXTCY-M12
EHREIEIREE - 22 (M16X1.5 Hif)
~mE RYE
©
M12X1.0 o
M16X1.5
HELHMh
8pins
X
iITRIER
T i) RS Bs
8pins X 713780100000494 NXTCY-PMM12FXM08001
BRSH
L 8
b Y PCB #&#R
5530
TIERE -40°C ~+85°C
HERRE >100 %
e E 50V AC/60V DC
RERBIR 0.5A
lziac=27d IP67/IP68
feg LTzl <5mQ
et Gl > 100MQ
iEEtE Cuzn
iEfLgE Cusn
SRR Au

087 | IEZ=-EERERRRT SR

2.3
Eagibari
8pins
X
81~
7 2
s 3
TRIER
PvE 4RI T8RS BS
8pins X 713780100000495 NXTCY-PMM12FXF08001
BARSH
& 8
B PCB #E#x
2 -
TIERE -25°C ~+85°C
TRRIREL >100 %
e E 30V
EREERTT 2A
P& 1P67/1P68
EAtEErE <10mQ
et > 100MQ
bappa Cuzn
HEFLATE CuSn
LR Au

IEZ=-EERERRTI R | 088



EHFERS

SR ENES

NXTCY-M12
ERZEHEEE - 8 (90°)
~mE RIE
< |=—15.0—]
% | 10.0—~ 11.8 —
=
T
b ~
Q )
| L] | 2
215 M12X1.0
LD
8pins
X
7/ ° z
&0, 3
5 4
TRHRES
T 4RES RS Bs
8pins X 713780100000496 NXTCY-PMM12FXF08003
BASH
ey 8
b g PCB #&#R
S
TIERE -40°C ~+85°C
TERREL >100%
EERE 50V AC/60V DC
R 0.5A
lziac=27d IP67/IP68
feg LTzl <5mQ
et Gl > 100MQ
iEEtE Cuzn
iEfLgE Cusn
SPLEREM R Au

NXTCY-M12
BEIESL - MBS (90°)
mE RYEA
’-— 29.6 —=
I
©
< 05
b
HELHTE
8pins 8pins
X X
£TRS
572
TRIER
PvE 4RI T8RS BS
8pins X 713780100000497 NXTCY-SPM12RX08001
BEARSE
& 8
B -
2 -
TIERE -40°C ~+85°C
BRIRE >100 %
e E 50V AC/60V DC
Ve 0.5A
P& 1P67/1P68
EAtEErE <5mQ
et > 100MQ
bappa Cuzn
HEFLATE CuSn
LR Au

089 | IEZ=-EERERRRTT IR

IEZ=-EERERRTI R 1 090



EHFERS

SR ENES

NXTCY-M12
M12 235 RJ45 551k (90°)
~mE RYE
I 47
12.54=—
: ED :
> 2
= i
= M16X1.5
HELHMh
8pins RJ45
X
iITRIER
ER i) RS Bs
8pins X 713780100000498 NXTCY-SPM125X08003
BRSH
ey 8
b Y PCB #&#R
5530
TIERE -40°C ~+85°C
TERREL >100 %
e E 50V AC/60V DC
HERBR 0.5A
lziac=27d IP67/IP68
feg LTzl <5mQ
et Gl > 100MQ
iEEtE Cuzn
iEfLgE CuSn
SRR Au

091 | IEZ=-E EREIRIRIRTT SRR RS

NXTCY-M12
M12 345 RJ45 B5§EsL (90°)
mE RYE
} 47
I
[«
M12X1.0
Eagibari
8pins RJ45
X
TRIER
PvE 4RE T8RS BS
8pins X 713780100000499 NXTCY-SPM125X08004
BARSH
& 8
B =
2 -
TIERE -40°C ~+85°C
TRRIREL >100 %
e E 50V AC/60V DC
Ve 0.5A
iE =243 IP67/IP68
EAtEErE <5mQ
et > 100MQ
bappa Cuzn
HEFLATE CuSn
LR Au

B

4k
Be

1

FRERTS 2Rt 1 092



EHFERS

SR ENES

NXTCY-M12
M12 245 RJ45 5§8sL (180°)
~mE RYE
49
125,
o L
N o
I
=
M16X1.
HELHMh
8pins RJ45
X
iITRIER
ER i) RS Bs
8pins X 713780100000500 NXTCY-SPM125X08005
BRSH
ey 8
b Y PCB ##R
5530
TIERE -40°C ~+85°C
TERREL >100 %
e E 50V AC/60V DC
R 0.5A
lziac=27d IP67/IP68
feg LTzl <5mQ
et Gl > 100MQ
iEEtE Cuzn
iEfLgE CuSn
SRR Au

093 | IEZ=-EERERRRTT IR

NXTCY-M12
M12 345 RJ45 B5§EsL (180°)
mE RYEA
REF 52.8
REF 51
—=t REF19.5 {=—
|
M12X1.0 ¢
HELHTE
8pins RJ45
X
-
TRIER
PvE 4RI T8RS BS
8pins X 713780100000501 NXTCY-SPM12SX08006
BEARSE
& 8
225 Y =
2 -
TIERE -40°C ~+85°C
BRIRE >100 %
EEEE 50V AC/60V DC
Ve 0.5A
P& 1P67/1P68
EAtEErE <5mQ
et > 100MQ
bappa Cuzn
HEFLATE CuSn
LR Au

IEZR-EERERBIRTT =R | 094



EHFERS SR ENES

NXTCY-M12 NXTCY-M12
MindREEL - & IiBREEL - B
FRE RYE FRE RYE
< <
5 5 69 ref
re
— | —
S T4ret p
—
o o
3 N —
N
g — &
R b

DM

g bexict

TRES
T 4RES RS Bs
4+PE K 713780100000502 NXTCY-ASM12KM05001
BASH
E 4+PE
b Y Bliges
55 max.1.5mm?(max.16AWG)
ZIER 8~12mm
TIERE -40°C ~+85°C
TFERREL >100 %
ERE 630V
EERT 12A
[yizia=273 IP67/1P68
FEfhra e <3mQ
#a5ea e > 100MQ
fEETAR Cuzn
EFLR CusSn
SRR Au
095 | IEz=-%= IRARIR TS SRS

ITRIER

PvE 4RE 155 BS
4+PE K 713780100000503 NXTCY-ASM12KF05001
BARSH

TE 4+PE

225 Y g

559 max.1.5mm?(max.16AWG)

SER 8~12mm

TIERE -40°C ~+85°C

R >100 %

UERRE 630V

EREEER 12A

htiad 1P67/1P68

Fefteape <3mQ

patoEliz| > 100MQ

fEsapEss CuZn

EFLAR CuSn

SEERMER Au

IEZ=-EERERRTI R 1 096



EHFERS

SR ENES

NXTCY-M12
MUBREIES - 2
FRE RYE
ST
4+PE
K

TRHRES

T 4RES 55 Bs
4+PE K 713780100000504 NXTCY-ASM12KM05002
BASH

E 4+PE

b g gy

55 max.1.5mm?(max.16AWG)

ZIER 8~12mm

TIERE -40°C ~+85°C

TFERREL >100 %

ERE 630V

EERT 12A

[zias:2d IP67/1P68

FEfhra e <3mQ

#a5ea e > 100MQ

fEETAR Cuzn

EFLR CusSn

SRR Au

097 | IEZ=-EERERRRT SRt

NXTCY-M12
MipEEEL - 2
mE RYE

a

N

Q

(=)
=
Eagibari
4+PE
K

ITRIER
PvE 4RE T8RS BS
4+PE K 713780100000505 NXTCY-ASM12KF05002
BARSH
T 4+PE
B g
559 max.1.5mm?(max.16AWG)
SER 8~12mm
TIERE -40°C ~+85°C
FERIRER >100 %
UERRE 630V
ENERRT 12A
htiad 1P67/1P68
bl <3mQ
patoEliz| > 100MQ
bapara CuZn
EFLAR CuSn
SEERMER Au

EERERBRTT IR | 098



EHFERS SR ENES

NXTCY-M12 NXTCY-M12
UBREIRE - 2 MUBREEE - B
P RYE FEE RYE

|

e —
ez =
HELHMh HELHTE
4+PE 4+PE
K K
iITRIER TRIER
ER i) RS Bs TE 4RI T8RS BS
4+PE K 713780100000506 NXTCY-PMM12FKMO05001 4+PE K 713780100000507 NXTCY-PMM12FKF05001
BRSH BEARSE
ey 4+PE & 4+PE
b g 124 B 25
570 max.2.5mm?(max.14AWG) Lol max.2.5mm?(max.14AWG)
TIERE -40°C ~+85°C TIERE -40°C ~+85°C
TERREL >100% TEIRIREL >100 %
EER & 630V EERBE 630V
R 12A Ve 12A
e a2 IP67/IP68 P& 1P67/1P68
feg LTzl <3mQ EAtEErE <3mQ
et Gl > 100MQ e Gl > 100MQ
iEEtE Cuzn bappa Cuzn
iEfLgE CuSn LA CuSn
SRR Au LR Au

099 | IEZ=-EERERRRTT IR IEZ=-EERERIRTI SRR 1100



EHFERS

SR ENES

NXTCY-M12
H BUgEiEsL -3 5L
~mE RYE
96.6 REF
62.0 REF
je——41.0 REF —~
25.0
oT T l H H l "
3 M uuu E
Q (S}
M12X1.0 M12X1.0-6g
93.8 REF
HELHMh
4+PE 4+PE
K
iITRIER
ER i) RS Bs
4+PE K 713780100000508 NXTCY-SPM12HK05001
BRSH
o 4+PE
b Y -
5530
TIERE -40°C ~+85°C
ERREL >100 %
e E 630V
EERBTR 12A
It IP67/1P68
feg LTzl <3mQ
et Gl > 100MQ
iEEtE Cuzn
iEfLgE CuSn
SRR Au

107 | [EZS-EE2RERARRTS SR04t

NXTCY-M12
H BigiRsL -4 3k
mE RYE
.6 REF
i ot
25.0
M12X1.0 M12X1.0-6g
93.8 REF
Eagibari
4+PE 4+PE
K K
TRIER
PvE 4RI T8RS BS
4+PE K 713780100000509 NXTCY-SPM12HK05002
BARSH
L 4+PE
225 Y =
2 -
TIERE -40°C ~+85°C
TRRIREL >100R
e E 630V
EREERTT 12A
P& 1P67/1P68
EAtEErE <3mQ
et > 100MQ
bappa Cuzn
HEFLATE CuSn
LR Au

IEZ=-EERERFIRTT SRR 1102



EHFERS

SR ENES

NXTCY-M12
WUBTEEHEE - 2
FEE R<E
e
X
S 74 ref '
O_
N —
Q
EaEibaxin)
4+FE
L
ng
8q
e[®
ITHRER
L Eoic) 1IRS B
4+PE K 713780100000510 NXTCY-ASM12LM05001
BARSH
E 4+PE
EEAN ffiRez
B max.1.5mm?*(max.16AWG)
5 7=t 8~12mm
TRRE -40°C ~+85°C
TRIRIREL >100 %
EERE 63V
EERRTT 16A
33t A=) IP67/1P68
FEAtERRE <3mQ
HEERERRE > 100MQ
TR Cuzn
fEFLE CuSn
SHLEREM R Au

103 | IEZ=-E55

EIRRRTT IR M

NXTCY-M12
MipEEEL - 2
=mE RYE
=
é 69 ref
=
e
3 =
Q
i
Eagibari
4+FE
L
&
9|
ITRIER
PvE 4RE 155 BE
4+PE L 713780100000511 NXTCY-ASM12LF05001
BARSH
TE 4+PE
BERN g
559 max.1.5mm?(max.16AWG)
SER 8~12mm
TIERE -40°C ~+85°C
R >100 %
UERRE 63V
EREEER 16A
htiad 1P67/1P68
Fefteape <3mQ
patoEliz| > 100MQ
fEsapEss CuZn
EFLAR CuSn
SEERMER Au

IEZ=-

EERERBIRTT SRR 1104



EHFERS

SR ENES

NXTCY-M12
WUBTEEHEE - 2
FEE R<E
EaEibaxin)

4+FE

L
ng

8q

e[®
ITHRIER
T Eoic) 1IRS B
4+PE L 713780100000512 NXTCY-ASM12LM05002
BARSH
E 4+PE
EEAN ffiRez
B max.1.5mm?*(max.16AWG)
HMER 8~12mm
TRRE -40°C ~+85°C
TRIRIREL >100 %
EERE 63V
EERRTT 16A
037 IP67/1P68
FEAtERRE <3mQ
HEERERRE > 100MQ
TR Cuzn
fEFLE CuSn
LR Au

105 | IEZ=-E EREIRIRIRTT SRR RS

NXTCY-M12
MipEEEL - 2
mE RYE
]
N
Q
=)
=
Eagibari
4+FE
L
&
9|
ITRIER
PvE 4RE T8RS BS
4+PE L 713780100000513 NXTCY-ASM12LF05002
BARSH
T 4+PE
B g
559 max.1.5mm?(max.16AWG)
SER 8~12mm
TIERE -40°C ~+85°C
FERIRER >100 %
UERRE 63V
ENERRT 16A
htiad 1P67/1P68
bl <3mQ
patoEliz| > 100MQ
bapara CuZn
EFLAR CuSn
SEERMER Au

EERERRRTT IR | 106



EHFERS

SR ENES

NXTCY-M12
ERESEHREE - 2 (B0 )
FEE R<E
L=0.1m
1l ===
=1 7T %
o
g
=
EaEibaxin)
4+FE
L
ng
8q
e[®
iITHER
T Eoic) 1IRS B
4+PE L 713780100000514 NXTCY-PMM12FLM05001
BASH
E 4+PE
EEAN 1R
55 max.2.5mm?
5 7=t -40°C ~+85°C
TRRE >100 3%
TR 63V
EERE 16A
EERT IP67/1P68
[zias:2d <3mQ
FEAtERRE > 100MQ
#a5ea e Cuzn
EETARL Cusn
EFLR Au
SRR Au

NXTCY-M12
ERTHEIEEE - 8 (FIH)
mE RYE
~—22.0 —
21.0 —| L=0.1m
. ]
18 =
%
=

Eagibari

4+FE

L

&>

9|
TRIER
PvE 4RI T8RS BS
4+PE L 713780100000515 NXTCY-PMM12FLF05001
BARSH
T 4+PE
B 125K
Lol max.2.5mm?
TIERE -40°C ~+85°C
TRRIREL >100 %
e E 63V
EREERTT 16A
P& 1P67/1P68
EAtEErE <3mQ
et > 100MQ
bappa CuzZn
HEFLATE CuSn
LR Au

107 | IEZ=-EBRERRIRTT IR

IEZ=-EERERFIRTT SRR 1108



EHFERS

SR ENES

NXTCY-M12
H BUgEiEsL -3 5L
~mE RYE
96.6 REF
62.0 REF
f=——41.0 REF —~
25.0
ol T l i lﬁ l "
b Eillaauuae :
M12X1.0 g 4 M12X1.0-6g
ANn-
[ OO |
93.8 REF
HELHMh
4+FE 4+FE
L L
<o
(e39) 5%
<[> <l
iITRIER
ER i) RS Bs
4+PE L 713780100000516 NXTCY-SPM12HL05001
BRSH
R 4+PE
b Y -
5530
TIERE -40°C ~+85°C
ERREL >100 %
e E 63V
EERBTR 16A
It IP67/1P68
feg LTzl <3mQ
et Gl > 100MQ
iEEtE Cuzn
iEfLgE CuSn
SRR Au

109 | IEZ=-E EREIRIRIRTT SRR

NXTCY-M12
H BigiRsL -4 3k
mE RYE
6 REF
e
25.0
M12X1.0 M12X1.0-6g
r 93.8 REF

Eagibari

4+FE 4+FE

L L

5°q EOR

<[> o
TRIER
TE 4RI T8RS BS
4+PE L 713780100000517 NXTCY-SPM12HL05002
BARSH
T 4+PE
225 Y =
2 -
TIERE -40°C ~+85°C
TRRIREL >100 %
EEFBE 63V
EREERTT 16A
P& 1P67/1P68
EAtEErE <3mQ
et > 100MQ
bappa Cuzn
HEFLATE CuSn
LR Au

IEZR-EERERBIRTT SRR [ 110



EHFERS

5.3 NXTCY-M23 RFI1&E#22

SR ENES

NXTCY-M23
AR - B
FEHE RYE
70ref ,
e
©
Q
faEibari
6pins 7pins 8+1pins 6+3pins 12pins 16pins 17pins 16+3pins
S
o) ? o
ITRER
B ES B
6 713780100000526 NXTCY-ASM23F06001
7 713780100000527 NXTCY-ASM23F07001
8+1 713780100000528 NXTCY-ASM23F09001
6+3 713780100000529 NXTCY-ASM23F09007
12 713780100000530 NXTCY-ASM23F12001
16 713780100000531 NXTCY-ASM23F16001
17 713780100000532 NXTCY-ASM23F17001
19 713780100000533 NXTCY-ASM23F19001
BASE
S 6 7 8+1 6+3 12 16 17 16+3
b5 7ap0 185
SMER 6~8mm
TERE -40°C ~+125°C
HEROREL >100 3%
HUEEBE 250V 150V
AR 20A 88A+1*20A | 6*8A+3*20A | 8A 16*8A+3*10A
BPEER IP67/IP68
FERRERIE <3mQ
Ya5EB0R > 1000MQ
et CuZn
LA CuSn
SHFLEEME Au

NXTCY-M23
MizsREREL - &
F=mE R<HE
. 72ref .

o ||

N

Q -

T
M23x1.0
£
6pins 7pins 8+1pins 6+3pins 12pins 16pins 17pins 16+3pins
TRER
HER TS BE
6 713780100000518 NXTCY-ASM23M06001
7 713780100000519 NXTCY-ASM23M07001
8+1 713780100000520 NXTCY-ASM23M09001
6+3 713780100000521 NXTCY-ASM23M09007
12 713780100000522 NXTCY-ASM23M12001
16 713780100000523 NXTCY-ASM23M16001
17 713780100000524 NXTCY-ASM23M17001
19 713780100000525 NXTCY-ASM23M19001
BRSH
foe 6 7 8+1 6+3 12 16 17 16+3
(=575 125
b |Gz | oms o S
LMBER 6~8mm
TIERE -40°C ~+125°C
TERRIREL >100 )%
AR E 250V 150V
FEFET 20A 8*8A+1*20A | 6*8A+3*20A | 8A 16*8A+3*10A
BHREELR, IP67/IP68
FEfmERpE <3mQ
e ERlE > 1000MQ
HEETAEL CuzZn
HEFLME CuSn
SFLEEAR Au
M | E=- B SRR IRHE

IEZR-EERERBRTT IR | 112



EHFERS

SR ENES

NXTCY-M23
MBREIEL - 2 (90°)
FRE RYE
78 ‘
58
-
M
N
S5 g‘ PG11
5
M23X1,
226
k1 haxic)
6pins 7pins 8+1pins 6+3pins 12pins 16pins 17pins 16+3pins
=
& ok

ITRIER
B HES B
6 713780100000534 NXTCY-ASM23M06003
7 713780100000535 NXTCY-ASM23M07003
8+1 713780100000536 NXTCY-ASM23M09003
6+3 713780100000537 NXTCY-ASM23M09004
12 713780100000538 NXTCY-ASM23M12003
16 713780100000539 NXTCY-ASM23M16003
17 713780100000540 NXTCY-ASM23M17003
19 713780100000541 NXTCY-ASM23M19003
BASH
T 6 7 8+1 6+3 12 16 17 16+3
B 125
e [ouzagr | omms e s
57 )=t 6~8mm
TIRRE -40°C ~+125°C
ERRE >100 %
HERE 250V 150V
HUERR 20A 8*8A+1*20A | 6*8A+3"20A | 8A 16*8A+3*10A
PP IP67/IP68
FEfEEPE <3mQ
HEERERRE > 1000MQ
fEEtE Cuzn
fwFLATE CuSn
EHELEREMR Au

13 | [EZ=-EERERRRT SR04

NXTCY-M23
MBRERIEL - 8 (90°)
FRE RYE
75 ref ,
P
226 m

Eagibaxisl

6pins 7pins 8+1pins 6+3pins 12pins 16pins 17pins 16+3pins

6°%

o ? o,
iTHRER
&L T8RS s
6 713780100000542 NXTCY-ASM23F06003
7 713780100000543 NXTCY-ASM23F07003
8+1 713780100000544 NXTCY-ASM23F09003
6+3 713780100000545 NXTCY-ASM23F09004
12 713780100000546 NXTCY-ASM23F12003
16 713780100000547 NXTCY-ASM23F16003
17 713780100000548 NXTCY-ASM23F17003
19 713780100000549 NXTCY-ASM23F19003
BARSH
i 6 7 8+1 6+3 12 16 17 16+3
E&AN 125
& 25mm’/(14 AWG) ?1*22?2;;68?# (61*g)?2/i;sg>mmz 1.0mm?/(18 AWG) G
LMER 6~8mm
TIERE -40°C ~+125°C
FRIRIREL >100R
e E 250V 150V
R 20A 8*8A+1*20A | 6*8A+3*20A | 8A 16*8A+3*10A
DR 1P67/IP68
FEfheRfE <3mQ
P > 1000MQ
FEEIAE Cuzn
HEFLAE CuSn
PR Au

=852

IRRRR TSR | 114

G

il
anp
fayey



EHFERS

SR ENES

NXTCY-M23 NXTCY-M23
HinEmiEL - & (Fikit) MBRECHRk - 2 (Fikith)
PR R FRE RtE
~—— 71.6 REF 76.6 REF
4
o
o =
NS
T LM
EMER: \ EHER
7~12mm 7~12mm
AE ki g baxict
5+PE 4+3+PE (5+3+PE)-A 4+4+3+PE 4+4+4+PE 5+PE 4+3+PE (5+3+PE)-A 4+4+3+PE 4+4+4+PE
ITEER THEER
B HES B B ES S
5+PE 713780100000550 NXTCY-ASM23M06005 5+PE 713780100000555 NXTCY-ASM23F06002
4+3+PE 713780100000551 NXTCY-ASM23M08005 4+3+PE 713780100000556 NXTCY-ASM23F08002
5+3+PE 713780100000552 NXTCY-ASM23M09002 5+3+PE 713780100000557 NXTCY-ASM23F09005
4+4+3+PE 713780100000553 NXTCY-ASM23M12002 4+4+3+PE 713780100000558 NXTCY-ASM23F12002
4+4+4+PE 713780100000554 NXTCY-ASM23M13002 4+4+4+PE 713780100000559 NXTCY-ASM23F13002
BASH BASH
&L 5+PE 4+3+PE 5+3+PE 4+4+3+PE 4+4+4+PE E 5+PE 4+3+PE 5+3+PE 4+4+3+PE 4+4+4+PE
&R EiZ BEH [E#
2 0.75~2.5mm?/(18~14 AWG) S 0.75~2.5mm?/(18~14 AWG)
SMER 7~12mm HHER 7~12mm
TIERE -40°C ~+125°C TERE -40°C ~+125°C
TRIBOREL >100% TRIREL >100 )%
BERE 630V 300V/600V 300V/600V 60V/300V/600V 50V/50V/630V EERE 630V 300V/600V 300V/600V 60V/300V/600V 50V/50V/630V
BEETR 30A 8A/28A 10A/28A 2A/8A/28A 3.6A/8A/28A EEFEI 30A 8A/28A 10A/28A 2A/8A/28A 3.6A/8A/28A
SR IP69K lhitia22d IP69K
FEfRERIE <5mQ JEARERIE <5mQ
et elicl > 100MQ EareElE] > 100MQ
b CuZn K CuZn
aFLAR Cusn FEFLAEL CuSn
FHELEEME Au SHELEEME Au

15 | [EZs-EERERRRT IR0

ERRERRERTT SR M | 116



EHFERS

SR ENES

NXTCY-M23 NXTCY-M23
MiBEREL - MinEEEL - 2
F=mE RYE =mE RYE
65.0 REF
] N —
: R —
% g —
\_ SMER: ZMER:
7~12mm 7~12mm
DT Eagibaris
12pins 17pins 16+3pins 12pins 17pins 16+3pins

ITRIER ITRIER
TE RS Bns TE TS Bng
12 713780100000560 NXTCY-ASM23M12005 12 713780100000563 NXTCY-ASM23F12005
17 713780100000561 NXTCY-ASM23M17005 17 713780100000564 NXTCY-ASM23F17005
19 713780100000562 NXTCY-ASM23M19002 19 713780100000565 NXTCY-ASM23F19005
BARSH BASH
E 12 19 E 12 17 19
b-s Y 5553 BEAN o5
2 0.14~1.0mm?/(26~17 AWG) 2 0.14~1.0mm?/(26~17 AWG)
EMER 7~12mm ZTER 7~12mm
TIERE -40°C ~+125°C TIERE -40°C ~+125°C
TR >100 % TERIREL >100 %
SRR E 150V HERE 150V
EERT 8A 16*3A+3*10A FERT 8A 16*3A+3*10A
lagia=7d IP69K lyagia=7d IP69K
bzs Tz < 5mQ bis Dl < 5mQ
#a5eaE > 100MQ et Gl > 100MQ
&R Cuzn e Cuzn
LR CuSn LR Cusn
SRR Au LR Au

17 | [EZ=-E54

CIRRRRTT IR

IEZ=-E2RR%

IRTTEERMRE 1 118



EHFERS SR ENES

NXTCY-M23 NXTCY-M23
ERTEIEREE - 2 (Fiit) ERTHEIAEE - 8 (FiEith)
F=mE RYE mE RYEA
38.7
2.5
T 0.6
O.'_ z -
= S R
z}_ s i
Lo HELHTE
5+PE 4+3+PE (543+PE)-A 4+4+3+PE 4+4+4+PE 5+PE 4+3+PE (5+3+PE)-A 4+4+3+PE A4+4+4+PE
A ©
col[e
ITRIER ITRIER
TE RS Bns TE TS Bng
5+PE 713780100000566 NXTCY-PMM23LMO06002 5+PE 713780100000568 NXTCY-PMM23LF06002
4+3+PE 713780100000567 NXTCY-PMM23LM08002 4+3+PE 713780100000569 NXTCY-PMM23LF08002
BRSH BARSH
TEL 5+PE 4+3+PE & 5+PE 4+3+PE
BT B B [k
S 0.75~2.5mm?/(18~14 AWG) 570 0.75~2.5mm?/(18~14 AWG)
SMER 7~12mm EMER 7~12mm
TERE -40°C ~+125°C TERE -40°C ~+125°C
BRREL >100 % TRRREL >100 %
HERE 630V 300V/600V EERBE 630V 300V/600V
EEET 30A 8A/28A EEERIT 30A 8A/28A
BEIRER IP69K PR 1P69K
FEfhra e <5mQ bR E <5mQ
EEe Gl > 100MQ Bat eS| > 100MQ
TR Cuzn FREHARL CuzZn
ErLATR CuSn ficzdkp o CuSn
SRR Au SEEEME Au

N9 | [EZ=-EERERRRT IR0 IEZ=-EERERRIRTI SRR 1120



EHFERS

SR ENES

NXTCY-M23
EHREEECHEEE - 2
PR R
fe—27.0—
2.5
~—18.5 =—0.6
.
<
%
N
=
b
FHLDT
12pins 17pins 19pins

TRER

T RS BE

12 713780100000570 NXTCY-PMM23LM12002
17 713780100000571 NXTCY-PMM23LM17002
19 713780100000572 NXTCY-PMM23LM19002
BARSH

E 12 17 16+3
BEEAN RS

S 0.14~1.0mm2/(26~17 AWG)

TIERE -40°C ~+125°C

RIS >100 %

EErRE 150V

EERBTR 8A 16*3A+3*10A
lziac=274 IP69K

iR e <5mQ

HERFRIE > 100MQ

et CuzZn

fEFLR CuSn

SPLEREM R Au

121 | [EZ=-E5538

EIRRRTI SRS

NXTCY-M23
ERTHEIAEE - 8 (FiEith)
mE RYEA
HELHTE
12pins 17pins 19pins
ITRIER
TE TS Bng
12 713780100000573 NXTCY-PMM23LF12002
17 713780100000574 NXTCY-PMM23LF17002
19 713780100000575 NXTCY-PMM23LF19002
BARASH
T 12 17 16+3
B#EAN B
570 0.14~1.0mm?/(26~17 AWG)
TIERE -40°C ~+125°C
FEROREL >100 %
EErRRE 150V
EREETR 8A 16*3A+3*10A
hitiad IP69K
FEfbea e <5mQ
ekl > 100MQ
g CuzZn
LR CuSn
SEEREMER Au

EZR-EE

o
Be

TRARIRTT SRR 1122



EHFERS

SR ENES

NXTCY-M23
ERREEEE - 2 (FH)
F=mE RYE
[=-20.4 - 6.0
.1_
M23X1.0 M20X1.5
|
Lo
6pins 7pins 9pins 12pins 16pins 17pins 19pins
ITRIER
TE RS Bns
6 713780100000576 NXTCY-PMM23BMO06001
7 713780100000577 NXTCY-PMM23BMO07001
9 713780100000578 NXTCY-PMM23BMO09001
12 713780100000579 NXTCY-PMM23BM12001
16 713780100000580 NXTCY-PMM23BM16001
17 713780100000581 NXTCY-PMM23BM17001
19 713780100000582 NXTCY-PMM23BM19001
BARSH
TER 6.7 9 12, 16, 17 16+3
b5 Y b 185
s 2.5mm? 8*1.5+1*2.5mm? 1.0mm? 16*1.0+3*1.5mm?
(14 AWG) (16/14 AWG) (18 AWG) (18/16 AWG)
TIERE -40°C ~+125°C
TERREL >100 )%
e E 250V 150V
EERT 20A 8*8A+1*20A 8A 16*3A+3*10A
liac2d IP67/1P68
bizs LEETEl <3mQ
etoeeliz] > 1000MQ
TEEtTR Cuzn
fErLAAR CuSn
FLEEME Au

123 | IEZ=- S ERERRIRTT SRS

NXTCY-M23
ERREEEE - 8 (Fi)
mE RYEA
[=—20.4 - 6.0
.1_
M23X1.0 M20X1.5
|
HELHTE
6pins 7pins 9pins 12pins 16pins 17pins 19pins
0
s
ITRIER
TE TS Bng
6 713780100000583 NXTCY-PMM23BF06001
7 713780100000584 NXTCY-PMM23BF07001
9 713780100000585 NXTCY-PMM23BF09001
12 713780100000586 NXTCY-PMM23BF12002
16 713780100000587 NXTCY-PMM23BF16001
17 713780100000588 NXTCY-PMM23BF17001
19 713780100000589 NXTCY-PMM23BF19002
BASH
T 6.7 9 12, 16, 17 16+3
LA 185
& 2.5mm? 8*1.5+1*2.5mm? 1.0mm? 16*1.0+3*1.5mm?
(14 AWG) (16/14 AWG) (18 AWG) (18/16 AWG)
TIERE -40°C ~+125°C
TERIREL >100 %
e E 250V 150V
ERERT 20A 8*8A+1*20A 8A 16*3A+3*10A
PR IP67/1P68
bz L] <3mQ
atoesliz) > 1000MQ
TEETAR CuZn
fErLAAR CuSn
LR Au

IEZR-EERERRRTT SRR [ 124



EHFERS

SR ENES

NXTCY-M23
ERERECEEE - 2 GE=H)
F=mE RYE
22.4
M23X1.0 e
&
2.2
Lo
6pins 7pins 9pins 12pins 16pins 17pins 19pins
ITRIER
TE RS Bns
6 713780100000590 NXTCY-PMM23LMO06001
7 713780100000591 NXTCY-PMM23LMO07001
9 713780100000592 NXTCY-PMM23LM09001
12 713780100000593 NXTCY-PMM23LM12001
16 713780100000594 NXTCY-PMM23LM16001
17 713780100000595 NXTCY-PMM23LM17001
19 713780100000596 NXTCY-PMM23LM19001
BARSH
TER 6.7 9 12, 16, 17 16+3
b5 Y b 185
) 2.5mm? 8*1.5+1*2.5mm? 1.0mm? 16*1.0+3*1.5mm?
(14 AWG) (16/14 AWG) (18 AWG) (18/16 AWG)
TIERE -40°C ~+125°C
TERREL >100 )%
e E 250V 150V
EERT 20A 8*8A+1*20A 8A 16*3A+3*10A
liac2d IP67/1P68
bizs LEETEl <3mQ
etoeeliz] > 1000MQ
TEEtTR Cuzn
fErLAAR CuSn
FLEEME Au

125 | IEZ=- S EREIRIRIRTT SRR

NXTCY-M23
EHRSRIGE - 8 (5280
FRE RYE
22.4
M23X1.0 2
o~
2.2

Eagibaxisl

6pins 7pins 9pins 12pins 16pins 17pins 19pins

609 {gé

vo ? o 20

&
iTHRER
HEL T8RS Bs
6 713780100000597 NXTCY-PMM23LF06001
7 713780100000598 NXTCY-PMM23LF07001
9 713780100000599 NXTCY-PMM23LF09001
12 713780100000600 NXTCY-PMM23LF12001
16 7137801000006071 NXTCY-PMM23LF16001
17 713780100000602 NXTCY-PMM23LF17001
19 713780100000603 NXTCY-PMM23LF19001
BRSH
K 6. 7 9 12, 16, 17 16+3
&R 125
s 2.5mm? 8*1.5+1*2.5mm? 1.0mm? 16*1.0+3*1.5mm?
(14 AWG) (16/14 AWG) (18 AWG) (18/16 AWG)

TiERE -40°C ~+125°C
TRIROREL >100 %
e 250V 150V
ERERT 20A 8*8A+1*20A 8A 16*3A+3*10A
PR IP67/1P68
fe3 Lzl <3mQ
HLER0E > 1000MQ
iEstirE CuZn
EfLAR CuSn
SHFLEEAR Au

REIRRRIR TSRt 1126



EHFERS

SR ENES

5.4 NXTCY-7/8" R\ ERE2S

NXTCY-7/8"
MinECHRk - B
PR RE
79.0 ref
I
o 2
s @ I:‘
N '
§ o
I —

sw27 J

Eagibaxisl
3pins 4pins Spins
3
23 [639) 7% Y
o O O 0OJ/s
- 1 - 4 ! -
iTHRER
&L T8RS s
3 713780100000607 NXTCY-AS78F03001
4 713780100000608 NXTCY-AS78F04001
5 713780100000609 NXTCY-AS78F05001
BARSH
HER 3 4 5
&R finl 022
2ol max.1.5mm?(max.16 AWG) max.1.5~2.5mm?(max.16~14 AWG)
ZMER 6~12mm
TIERE -25°C ~+85°C
HEROREL >100R
B E 300V
EIERRIR 12A 9A
PSR P67
FEfhERfE <3mQ
EatoeEliE] > 100MQ
HEEIAE Cuzn
HEFLAE CuSn
P EEE Au

NXTCY-7/8"
MizsREREL - &
F=mE R<HE
79.7 ref
9.0f—
sw27
ey
3pins 4pins Spins
3
3 2 3 2 4 2
4 1 5 1
THRER
E T8RS igi=3
3 713780100000604 NXTCY-AS78M03001
4 713780100000605 NXTCY-AS78M04001
5 713780100000606 NXTCY-AS78M05001
ERSH
o 3 4 5
BEAR PlfaRLe
4l max.1.5mm?(max.16 AWG) max.1.5~2.5mm?(max.16~14 AWG)
SMER 6~12mm
TIERE -25°C ~+85°C
HERIREL >100 %
ERE 300V
EERRT 12A 9A
BHiPER IP67
FEftes e <3mQ
EatorEliz] > 100MQ
fEET AR Cuzn
HEFLAE CuSn
SRR Au

IEZ=-EERERRRTT SRR 128



EHFERS

SR ENES

NXTCY-7/8"
MBREEL - 2 (90°)
FaE RE
f.
7/8"-16UN 71.0 ref
A
o
N
&J_ E
S
©
0
EaEibaric]
3pins 4pins Spins
3
3 2 3 2 4 2
4 1 5 1
THRER
HER T8RS s
3 713780100000610 NXTCY-AS78M03002
4 713780100000611 NXTCY-AS78M04002
5 713780100000612 NXTCY-AS78M05002
RS
L 3 5
BEAR finl 2222
2 max.1.5mm?(max.16 AWG) max.1.5~2.5mm?(max.16~14 AWG)
LMBER 6~12mm
TIERE -25°C ~+85°C
TRRIREL >100 %
B E 300V
BIRERBTR 12A
PSR IP67
FefeRrE <3mQ
Yas5ERlE > 100MQ
bEEagra] CuzZn
EFLAAR CuSn
S EEME Au

NXTCY-7/8"
TAZEECHR - 8 (90°)
=mE RYE
68.4 ref
7/8"-16UN

ol

)

I

Q
Eagibaris

3pins 4pins Spins
3
2 3 2 o o 3 2 OOO 4
° A\° _ 0/, 1\©O _ O /5

ITRIER
e RS
3 713780100000613 NXTCY-AS78F03002
4 713780100000614 NXTCY-AS78F04002
5 713780100000615 NXTCY-AS78F05002
BARSH
Ve 3 4 5
25 F:0 fifiRss
2ol max.1.5mm?(max.16 AWG) max.1.5~2.5mm’(max.16~14 AWG)
SMER 6~12mm
TREE -25°C ~+85°C
HERIRE >100 %
BIERE 300V
EREEET 12A 9A
hzia=7d P67
FERRERIE <3mQ
#aiea e > 100MQ
TR CuZn
HEFLAAR CuSn
LR Au

129 | IEZ=-E ERERIRIRTT SRR RS

IEZ=-EERERRRTI SRR 1130



EHFERS

SR ENES

NXTCY-7/8"
ERERRHEEE - 22
PR R
F— 22.0
PG13.5
L=0.1m |
]
e
|———————
7/8"-16UN2A:
G
3pins 4pins Spins
3
3 2 3 4
4 5
THRER
HER T8RS s
3 713780100000616 NXTCY-PM78BM03001
4 713780100000617 NXTCY-PM78BM04001
5 713780100000618 NXTCY-PM78BM05001
RS
L 3 5
BEAR 125
Lol max.2.5mm?(max.14AWG)
TiRRE -25°C ~+85°C
HRHRORES >100 %
EEBE 300V
EERRT 10A
PR IP67/IP68
b3 etz <5mQ
et eS| > 100MQ
st CuZn
EFLAE CuSn
srLEEMR Au

NXTCY-7/8"
EREEECIEEE - 8
mE RYE
26.55
PG13.5
L=0.1m |
—
=

Eagibaris
TRIER
T TS Bng
3 713780100000619 NXTCY-PM78BF03001
4 713780100000620 NXTCY-PM78BF04001
5 713780100000621 NXTCY-PM78BF05001
BARSH
& 3 4 5
570 max.2.5mm?*(max.14AWG)
TIERE -25°C ~+85°C
FRROREL >100 %
EEBE 300V
EEER 10A 8A
hitia=d 1P67/1P68
FEfibea e < 5mQ
“25ER0E > 100MQ
TR CuzZn
LR CuSn
SHELEREMR Au

131 | [EZs-EERERRRTS SR04t

1EZR-

EERERRRTTSIRME 1132



EHFERS

SR ENES

NXTCY-7/8"
EREEECIEEE - 8
mE RYEA
28.4

l=—19.8

rvwww—

P

UNF-7/8
HELHTE
3pins 4pins Spins
3
2 3 275 o\3 2 % 4
° ; oo 4 1 OO 5

TRIER
T TS Bng
3 713780100000625 NXTCY-PM78BF03002
4 713780100000626 NXTCY-PM78BF04002
5 713780100000627 NXTCY-PM78BF05002
BARSH
& 3 4 5
25 k0 PCB it
E= 7)) -
TIERE -25°C ~+85°C
FRROREL >100 %
EEBE 300V
EERRT 10A 8A
hitia=d 1P67/1P68
FEfibea e <5mQ
“25ER0E > 100MQ
TR Cuzn
LR CuSn
BRI Au

NXTCY-7/8"
EREEEEE - 2
g RYE
UNF-7/8
aEibaxic]
3pins 4pins Spins
3
3 2 3 2 4 2
4 1 5 1
ITRIER
HER T8RS s
3 713780100000622 NXTCY-PM78BM03002
4 713780100000623 NXTCY-PM78BM04002
5 713780100000624 NXTCY-PM78BM05002
BASE
T 3 4 5
25 Y PCB it
=50 -
T{RRE -25°C ~+85°C
HERIREL >100 %
EEBE 300V
EERRT 10A 8A
[DaEias=71 IP67/IP68
FEftes e <5mQ
et eS| > 100MQ
&R Cuzn
EFLAE CuSn
srLEEMR Au
133 | ER-SERRR S RIEHE

IEER-EERERRIRTT SRR 134



NXTCY-YD H5IERiEEE

1 = amtifid

NXTCY-YD RIVEEERRE Tl PaI—i, AR RE GB/T 34989 (IEC 61984) |, 7
mATEENMIR SR SBREENESEE.

o FmEIARYR :

I ERBER: 1BE
2, E&EA IRER

3. RBSTSE R AR RY
4. SNEBIPER

o FZmiltE:

HRERFFFLRT (Omm) B 20, 28, 32, 40, 48, 55
BERETE: 35 ~611

1. 8, 2. B 090°)
EirEtEZINERLE 4 MR (EBWE.

BRI

P44

Pyl

E =1

BIfZRBEG. R E

. BokEEk)

2 MiE=

NXTCY-YD B iEZes =2 AT BTFHERBIRSE.
Baft. M2EA. SREBRIENBSBIREENESEE,

ToRRes. AR, GEBNURE. Tk

3RISRANX
NXTCY . D 48 K 42
B R Hh5 PR KR ot
Y: B 20, 28, J: HEE
D: EERE 32,40, K EA Ly Ty 0ye i
48, 55 : : : )
S 16, 17, 19, 22,
24, 26, 27, 31,
38, 42, 53, 61
T P F 25
L /IR 5 + R Bk 3% RHEHERT
T &L P: EXEELBRE Fraphk BREO: 12
Z: iR Q: BXEEERBY F: FmA® 15, 15.8, 20
R: SXEESBURE 21, 25. 32
S: BWXEEEN B
B: HXEERNE
O: BXEEBHAEL
U: SREERRE
C: SREEMHKEL

SSMRTEENES

4 FmEBRASH

47 FeaatERg

IRHERE. HUAIERE

EBR +125°C

TERE —

TR -55°C *
TEXSITE 40°C + 2°C 93%~95%
ELSE > 96h
BHtPER P44
IREFIHRED | 2§ B 4% (GB/T21563-2018)
e (U ) > 500 %

iE M ERIBE( TFRE) RERASRINERHRE—ESRE T ENRBRSARIEE,
*2 IRIEMER SRS IPFAIERIEREE P RIE TEREE ( LIRM T IREELRRRIAIGNTE), 1917 GB/T2421.1 hSRSEHIAIEN )

2: 03
TSRER 2.3 SRR 1/
ezl ] HZ52 5000M(shSE , WER A)
FEARXIELR (mm) »1.5 »2.5 ®3.5 ®5.5
FEAEXIEERBTR 10A 25A 50A 100A
EBE

AREBKIR R PETESAAIE - SIS

ik iE  EERIRSENME B2 GB/T4797.2-2005 fRifE

FfteRpE

SRS

ERA BEEARRMEEEETL

A

5000 \\

c 1000 N

= 500 \\

)

® 100 q

® 50 P~

g \\

I3 18 N
1 \
25 50 75 100 125

PRUBE °C

\ 4

B

HRIEINERE
=, EE A
pyEmE, 4 |
[E;:EE’\JEE;‘RW

[ _

ST

BTEE

TREREI T IRIZE (FRIEIEC/EN 60512-5)

B

TRIEBE SRS HAY
EE LR
fETERIL n
0.8In

HimEE

BURE(E TR,

IEZ=-EERERRIRTI SRR 1136



EHFERS

SINBIRE+ BT

FRGBHIEERSAVER FIR TARRE (EESAREEMY, BNAERAIERRE, - ErEt)
T ZENERERRIAVERR, MR PR BN, R, B2 T &

EERERSHIRERR R R
BT 1~10 11~20 21~30 31~50 51~80 >80
ERERR I FREE % 0 10 20 30 40 50
NEEREININERE
iIRERLS - BKHTIE KV (1.2/50ps)

e U, kv e kV (50/60H
FEBKEBE (Uimp) 51 2000m - MWERE (FRE) (50/60Hz)
0.5 0.5 0.55 0.37
0.8 0.8 0.91 0.50
15 15 1.75 0.84
25 25 2.95 1.39
4 4 48 2.21

4.2 TS - TuHES

b EEp= Yt

e ) K @fxC

° &) “

®15 ®2.5 ®3.5 ®: mm

B
Mg YD20
e 3 (2+@) 4 (3+®)
HRXO )3 HX® 4 K4 @Ak

SR ENES

@ &SE, [T

%3
g YD32
o 19 (18+@)
HX@® )19
MBI
SEHEFIE
R EAR x & D2.5x3+@ D1.5x18+@
BSENERRE A ®25A ®10A
FERE VAC 400V 250V
ERRERKIFERSE V(1.2/50ps) 4000V 2500V
Bl mm? <2.5mm? <1.5mm?
FEfiERFE mQ <1mQ <2.5mQ
©: 56SiE, BT 4
g YD40
T 16 26 (25+D)
K16 @ 7= HRXO® 26 K26 @ 7L
2D 1@@@ U SN
5k D ie 0s 2 D ge oy
EHESIE e © o o o7 7 o o o ol
79 o © © o o 2¢ o © © o o7
20 © o o eol8 126 © © © o2
%0 © o 023 220 © o 0%
EMEER x HE ®2.5%x16 ®1.5%x22 D2.5x3+@
BISEIERRTE A @25A ®10A ®25A
HERE VAC 250V 250V
ERERKIHEBE V(1.2/50us) 2500V 2500V
RifmfEsL mm? <2.5mm? <1.5mm? <2.5mm?
JEAMERRE mQ <1mQ <2.5mQ <1mQ
O: 555’ BT
s YD40
PvE 31 (30+@)
HRXO 31
20 100 ®'n ®;
;0 © 0 o o, @ © o o o
EEZ0N ® e e o o
SEHETIE ® © ° o e
e o o o o o
19
e o o o o
29 25
FEMNER x & ®1.5x30+D 2.5x4+@D
BUSERER A ®10A (100A
ERERRE VAC 250V 500V
HERKRERE V(1.2/50ps) 2500V 2500V
Rl mm? <1.5mm? <1.5mm?
$EARERFE mQ <25mQ <0.3mQ

20N
SEHBIE
FERTER x $E ®2.5x2+@ D2.5%x3+@

SELERRITE A @ 25A @25A
HERE VAC 400V 400V
ERERKIFERE V(1.2/50us) 4000V 4000V
R mm? <2.5mm? <2.5mm?
$EfEERE mQ <1mQ <1mQ

*2
g YD20
HEL 5 (4+@) 7 (6+@)
HRXO® )5 Ks @7 HXO® 7 K7 @3

2N
SEHEE
R ELR x $E »1.5x4+Q@ ®1.5x6+@D

RREER T A ®10A ®10A
ERERE VAC 250V 250V
ERERKIFEEE V(1.2/50ps) 2500V 2500V
RiffEs mm? <1.5mm? <1.5mm?
FEAREEFE mQ <2.5mQ <2.5mQ

137 | IEZ=-EERe R SRR MR

EERERARIR TS SRS | 138



EHFERS

© KSE, BT

SR ENES

43 fHERTE

e (BER) INREERTE

DO
D

G
HEL 20
HERIR
SEHBIE
FEMYER x $E ®3.5%6+Q@ ®2.5%x20
AR A €550A P 25A
BREFE VAC 500V 250V
ERERKHERE V(1.2/50us) 4000V 2000V
B mm? <10mm? <2.5mm?
JEAMERRE mQ <0.5mQ <1mQ
S: £\, BT %8
g YD48
L 26 42 (41+Q)
4@ J26 H£® J42 K42 @7
50 o o o2 o5
ne e e e o e 0 © o o o o)
%ﬁﬁgu 18® © o o o o o2 1206 @ o o o o o

240 © o o o ey

9e o e e o e
30 © © o o o o2
w7e © o o o o2

%0 © © e o o o3
30 © o o o ey

20 © o o o B © © o eop

BRIER x 38 ©2.5%26 ©1.5x41+@

EREFRI A P 25A ®10A
FERE VAC 250V 250V
ERERKIHRERE V(1.2/50us) 2000V 2500V
BisiEsg mm? <2.5mm? <1.5mm?
JEfRERFE mQ <1mQ <2.5mQ
O TSI\, [FUIT %9
s YD55
T 53 (52+@) 61 (60+@)

HX@® J53 K53 @ 7 HX@® 61
PN o o
oo s e en,
e o0 0 0 o 0 s o o o o o o C oo e 0 e 0
G i s e e e e e ey e e e e e ey
SEHZIE 0o o o o o o ox 50 o o o o o oy
37. e o o o o o .30 SO. e o o o o o .37
“0 e o o o o .38
m‘ e o o o O“ 45! o o o o .Sl
o o o o o o
5 s

BEATER x & ®1.5x48 D2.5x4+Q@ ®1.5%60+Q@
BEEERT A ®10A P2sa ®10A
EREF)E VAC 250V 250V
ERERKIHEBE V(1.2/50us) 2500V 200V
Bl mm? <1.5mm? <2.5mm? <1.5mm?
JZfREEMA mQ <2.5mQ <1mQ <2.5mQ

139 | IEZ=-555

EIRRRTT IR M

N G
b
L
B
Bs DO D L N G B b [] d
YD20 20 M25X2 33 11 3 31 2210.2 35 20.5
YD28 28 M33X2 34 12 3 40 30+0.2 35 28.5
YD32 32 B 38X3 34 12 3 42 32+0.2 35 3255
YD40 40 FTF 46X3 34 12 3 50 40£0.2 45 40.5
YD48 48 B 55X3 35 12 3 58 48+0.2 4.5 485
YD55 55 BT 62X3 35 12 45 64 52+0.2 45 55.5
SHEHERE (BRRANS) IMERYE
BifEEE - @RRE BEIEEE - EfZEEL
@ )
@ .
® O
L
ShFEHItE 20 28 32 40 48 55
L 89 94 97 111 112 123
d 36 41 46 54 59 65
YIRS (BRRINS) IMERTE
TIREE - @RRE LHREE - EIfZRR8R
L L

&)

O O
HhFSHIE 20 28 32 40 48 55
L 70 87 91 101 118 127
d 67 78 83 90 95 104

ZnE

1EZ=-

EERERBRTT IR 140



EHFERS SR ENES

YRR (BFhiPshs) SHERTE EINERIE

IR - ParkiEsk IR - R E

TR - SR

m;

Sk - AL

—
—
—
o i -
—
—
| a—
L1 L2
IHIE | 20 28 32 40 48 55 ShsSHIE 20 28 32 40 48 55
PG** PG9 PG11 PG11 PG13.5 | PG16 PG13.5 | PG16 PG21 PG21 PG29 PG21 PG29 PG36 PG29 PG36 L 70 77 82 114 118 131
L1 99 102 111 108 111 115 113 116 125 127 127 129 133 139 142 d 67 77 80 86 92 102
L2 98 99 108 107 110 114 111 116 125 128 127 130 138 141 148
d 36 41 46 54 59 65 ELINERYE
XIEIERE (BRPNS) INERTE N s SL_§
L L - Bk B - e
EHERE - BikEEL LHRRE - IRXE
| S—
| c—
L1 L2 - III -
—
®
L2
ShFEHIEE | 20 28 32 40 48 55
PG** PG9 PG11 PG11 PG135 | PG16 PG135 | PG16 PG21 PG21 PG29 PG21 PG29 PG36 PG29 PG36
ShsEHIRE | 20 28 32 40 48 55 L1 99 102 109 107 110 112 110 113 122 123 126 129 131 136 140
PG** PG9 PG11 PG11 PG13.5 PG16 PG13.5 PG16 PG21 PG21 PG29 PG21 PG29 PG29 PG36 PG36 L2 99 100 107 106 107 112 109 114 122 126 125 127 138 139 146
L1 81 84 103 101 104 110 107 111 116 117 133 134 142 145 142 d 36 41 48 55 65 71
L2 81 82 101 100 104 108 105 111 116 119 133 136 145 151 148
d 63 72 83 84 91 103 —
ESIMERTE
4.4 FRLRTE
HEL - Bkl THEL -
BESMERTE 1 L2
BiEL - @BHRE BiEL - BB
o
T~ o o
L L
ShFEHIEE | 20 28 32 40 48 55
PG** PG9 PG11 PG11 PG135 | PG16 PG135 | PG16 PG21 PG21 PG29 PG21 PG29 PG29 PG36 PG36
L1 81 83 104 101 105 110 108 112 118 120 133 134 146 149 140
L2 80 81 101 100 103 110 108 111 118 121 133 136 148 154 146
e 20 28 32 40 48 55
ShFoHIE d 63 71 80 82 91 103
L 89 92 94 108 111 126
d 36 41 48 55 65 71
147 | [EZR-EERERRRTT IR M IEZ=-EHERRRRS IR | 142



CHNT &EZ=

itE8 RELFRE

FEEHER

RIS Jb5. K. it

FBiE: 010-56695999

Hotik: dbRFEEAXAIIIATRS 188 SEEE
N\XRESH

TR THEEED

FRIBRIG: T35, B

BBiE: 025-84653377

Mottt ST ERIRRIBRKITIAL 66 SHEBIE
EEaiuik:=14

LerhiEEEaD

FREBIKEE: SR, Bt MRS, ST

FBi%: 0371-60957777

Hotth: SRIEFBINFERIK XL 144 SEBAE
1707 =

RENE S PR AR EREHEHNES

I TESEBSERIABIRAG]
bl R TARET I SAER TV RRERE 1S
#B4: 325603

i 0577-62877777

{€H: 0577-62875888

D5, (L FAF 5t A Gahe:
PSR

KEMHER

FREEIIG: #FT. g,

FaiE: 0577-62877777-708557

Motk HRTEBMNFREDRAR 1 SERMBRIE
e 2 S 6 1%

JLEREEEED

FREBIEE: W . WE. B

FBiE: 0531-86268703

tohk: \IFREFRIHH AR 3RS 2666 SEaL
ElFFRi 2403 =

FLHEED

FRIGIIG: BRFS. HR. Bi8. FH. Hil. EW

FaiE: 020-86113877

Hottt: BFEETEEHEFEATFRERAGAREE
EFFeR B FE 2201 2

SEG—EFRENE 4 O O — 81 (=7777

MWilipE: Http: // www.chint.net | ilEiF: E-mai: services@chint.com

EREREFRS

CHINT.No.CN B02

AEXEER

FRIEIIG: [, . 88

EBiE: 020-38489277

Hotih: [ARENHESX BT 228 SiEFRE
3 BE 19 BTEFRER RIFE L

FALHHERD

FREEIIG: 75 . BT, EHh. R

EBiE: 024-22813877

Hotth: TFERPREF AT AR AT =R
16 SB -7 ([EFRDAR=RE)

FERITHEED

FREEECI: PU)Il. EER, =, M

FaiE: 028-85121777

Hottk: PO ESRARTREMBRATESHS 6 S
ElF5 B1-3AF

5=

HINT ELECTRIC) KRARFF




